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. Mapwork

‘Questions 1 1o 12 refer to the 1: 50 000 map of Muchirakuenda (Zimbabwe).

1 Which physical feature is found at Tsimenhurike (grid square 9000)?

A basin

- B hill

| C ridge
D saddle

2 The diagram shows part of the Ruya river.

97 98 99 00
- 12 gl g 5y
y
11 11
10 10
97 98 09 00

Navigation is difficult along this part of the river because of

A rapids.
B rocks.
C sand banks,
D tributaries,
3 Which feature is located 4,6 km North-East of the trigonometrical station in grid sqf
92007 '
A dam
B dip tank
C spot height
D TESErvoir

224811 12008
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we). 4 What is the length of the aerodrome landing area of Chombira which extends from grid
square 9310 to grid squere 94107

A 0,8 km

B 0,9 km

C 1,0 ko

D 1.1 km

5 Where is the confluence of the Mwananzou and the Ruya rivers located?

A 899 115

B 990 116

C 990 112

D 991 115 e

6 What is the grid bearing of the top of Gato hill in grid square 9700 from the
trigonometrical station in grid square 92007

A 320
B 58
c 9
D 200°

7 In the ares around Makore hill (grid square 0103), the main drainage patiern is

A dendritic.

B parallel.

C radial.

D rectangular.

8 What is the geperal direction of flow of the Ruya river?
n grid squ
' A North-East to South-East
B ‘gouth-East to North-West
C North-West to Soutb-East
D South-West 10 North-East

9 What evidence suggests the presence of livestock farming in the arca west of gridline 007

A dip tanks-

B good pasture

C paddocks’ . )
D sale pens

Fa

224871 12008



https://ecolebooks.com

Downl oad nore resources |ike this on ECO.EBOOKS. COM

4

What is the most extensive landusé in grid square 9304

A’ cattle rearing
B cultivation

C game ranching
D housing

A proposal is presented to build a new secondary school for the children in the area north
of the river Ruya. Using'map evidence only, which location would be the best?

A Nzvimbo (9210)
B - Kanukamwe (8705)
C  Muchirakuenda BC (9612)
D Muringai BC (9804)

Fpay -

Where dpes ajgravel road cross the Ruya river without a bridge?

A 921 065
B 989 108
C 941 074
D 948 076

Physical Environment .

Why does a Stevenson screen have louvred sides?

to reflect heat _

to prevent heat from directly reaching the thermometers
to allow free circulation of air

to prevent ground heat from reaching the thermometers

=N N~
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The diagram represents cloud

conditions at -different Stations.

3 Which of the cloud typés A B, CorDis associated with violent weather? o
5  The followingisa description of a weather feature: “an intense Jow pressure area which
develops on the western margin of tropical oceans, accompanied by thunder, lightning and
highly destructive winds”.
What is this feature?
A inter-tropical convergence zone (ITCZ)
) B tornado
2 C  whirlwind
. D tropical cyclone
16 The table below shows average temperature and rainfall for a place.
I|F |M | A VW'J 7OlA \s 0 [N D
HTempcC) |2 27 |% 27 77|26 .| 24 |25 26 |26 |26
200 \ 109.\ 79 \ 173 71'80 | 94 76

ENERE 190

0i

Rainfall (mm) | 60

Which type of climate is represented by the table?

A
B
C
D

Equatorial
Hot desert

Monsoon
Tropical continental .

34-8[] 12008 erum P ITA
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19

Which

A
B

D

-cloud cover
\_rainfall amount
Yelative humidity
wind speed

| i ke this on ECOLEBOOKS. COM

Lt

weather condition is determined by pressure gradients?

ivity.

The feature is a

Which mountain was formed as a result of folding"

=NoN--I '

=N gl I

batholith.
dyke. =
lopolith.
sill.

Alps
Kilimanjaro
Ruwenzori
Vesuviug
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v

Antarctic plate

e dpgtrUCHVE MATRIT

e COMStrUctive margin

<f_: direction of plate moysment
Az which plate boundary A. B. C or D does seafloor spreading oceur?

21 Which process of chemical weathering involves the absorption of water by rock minerals
without changing their chemical sructure?

A carbonation
B hydration
C oxidation
D solution

Doaks I2L0G
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22" The diagram shows & meandering river pattern.

— direction of flow -

At which location A, B, C, or D does erosien occur?
J~
23 Which process of river erosion is mainly responsible for the formarioz of g plunge pooil

a waierfall? :

A abrasion

B attrition

C COrTosion

D hydraulic action

24" What is the name of a desert feature which sometimes carries salty warer?

J
I
!
§

A bahada

B pediment
C playa

D wadi

25  Which is the main inpw in land-based ecosystems? 8

A animals ;
B vegetation (e
C sunlight R
D decomposers
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Economic Geography

Which of the following is a non-renewable and 2 renewable resource respectively?

non-renewable renewable
A fish coal
B oil cCOwW
C vegetation copper o .
D water wind ' o s

The diagram below shows the firewood problem of a developing country. .

56

40

/// .Firewood available

Firewood demand

mge pool:

30-

G
- 1990 2006

Firewood (million tonnes)
S
i

* The country would deal with this problem by

importing nuclear energy.
introducing fuel-saving devices.
prospecting for more fossil fuels.
resettling rural people.

Taw>
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28 Which would be the most suitable land rehabilitation scheme in a semi-arid area wi
experienced severe environmenta] degradation?

A application of fertilizer to increase agricultural yields
creation of rotational grazing schemes

C eradication of tsetse fly
D improvement of veterinary services to control animal diseases

LSRN

29 Why are most dairy farms located near urban centres?

A availability of a large market

B availability of a large labour force

C availability of clean water

D availability of specia] dairy cattle feeds

30 Which type of farming system is most suitable for an area with the physical conditio;
shown in the table below?

- Climate Soil Relief
temp. 25° - 28 °C deep, well drained e.g. leve! Jowland
annual rainfal] — volcanic alluvial or below 1200 m
1800 - 2500 mm weathered limestone
[
A cooperative dairy farming ;
‘B large-scale cattle ranching i
C large-scale sugar cane plantation
D apple fruit growing

31 The table below shows the percentages of the working population employed in pri
secondary and tertiary activities for four countries,

L Country l Pfimary , Secondary Tertiary |
A [ 3- 1 26 71
B | 7 | 34 59
C [ 32 ¢ ' 24 , 44
D ‘i 70 [ 10 - \ [ 20

Which country A, B, Cor D is thesmost economically developed?

22481 J2008
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32 Which one of the following industries is raw-material based?
A sugar milling in Triangle
B car assembly industry in Mutare
C furniture making ir. Harare
D sugar refining in Bulawayo

33 The pie charts below show the number of holidays talten in a year in a certain country,

12%
condition .
—42%
- - 1971 1991
. Key - number of holidays in a year
None _ Two
d in prim:
One . Three and above
— Which category cxperiénced the least percentage increase between 1971 and 19917
T A none
— B one.
C two
— D three and above

v =

224811 12006
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Population, Settlement and Trade

34 The term underpopulation means

; A fast depletion of resources.

B too few people for the available resources.

! C too many people for the available resources.
' D resources and population balancing.

35 Study the age-sex graph below.

- e owe A - - we . w e

46%

| 1519 gl
T10-14 YL
59 WM‘ ’
RTWER s,

86420 02468
percentage of total population

" 46%

What is the percentage dependent population for the graph shown?

A §%
B 46%
C 54%

D 92%

36 One of the aims of the clean-up operation of illegal settlements by the Zimbabwean
government in 2005 was to reduce the spread of

A cholera.

B HIV/AIDS.
C kwashiorkor.
D malaria.

22400 12007
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In urban housing, the terms high density and fovw densiry refer to the

quality of life of the residents.
number of houses per unit area.
number of people per unit area,
quality of building materials.

=N a2y

Map 1 shows the location of the homes for four’ pupﬂsm relation to their school, Map 2
shows the time taken by each pupil to ravel 10 school.

/ A Map .1 Map 2

School
D
C minutes
o 5 10 13
- . ' : ! g J

Which pupil, A, B, Cor D has the poorest transport link with the school?

3 The table below shows trade hetween country x and four trading partners.

thwean
Expoits Lmports
A 40% 48%
B 3% 12%
C 38% 25%
D 17% 2%

With which of the rading parners 4. B. C or D did the country have the most favourable
balance of trade” -

Jagye I
Turs aver
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What is the local time in New York, longitude 75° West, when it is noon in Harare,
longitude 30° East?

OOwy

0500 hours (5 a.m)
0700 hours (7 a.m)
1700 hours (5 p.m)
1900 hours (7 p.m)

S ha EENER ) R

|

— —
L NERRTEET_ N R i R v LY

b

234871 12008



https://ecolebooks.com

Downl oad nmore resources |i ke this on ECOLEBOOKS. COM

in Harare,

|5

(¥ )

I

R T - o] ~3 O

i

ZIMBABWE SCHOOL EXAMINATIONS COUNCIL

General Certificate of Education Ordinary Level

GEOGRAPHY 2248/1
MARKING SCHEML JUNE 2008
B 21 B
A 22 B
C 23 D
D 24 C
C 25 C
C 26 B
C 27 B )
D 28 B
4 29 A
D 30 C
A 31 A
B 32 A
C 33 D
C 34 B
D 33 C
A 36 A
D 37 B
B 38 C
A 3% D
B 40 A



https://ecolebooks.com

Downl oad nmore resources |i ke this on ECOLEBOOKS. COM

Apr Peplormater Mmssrosen!

7ZIMBABWE SCHBOOL EXAMINATIONS COUNCIL

General Certificate of Education Ordinary Level

GEOGRAPHY 2248/2
PAPER Z
JUNE 2008 SESSION 2 hours 30 minutes
Additional materials:
Answer paper
~ . _/

TME 2 hours 30 minutes

NSTRUCTIONS TO CANDIDATES

briwe yvour name, Cenus number and candidate number in the spaces provided on the answer

- japer/answer booklet.

\nswer four guestions.
{nswer one question from each 05 ections A. B and C and one other question from any section.

Krite your answers on the separalc answet paper provided.
f vou use more than orne sheet of paper, fasten the sheets together,
NFORMATION FOR CANDIDATES

Fhe number of marks is given in brackets [ 1at the end of each qusstion o part question.

Sketch maps and diagrams should be drawn whenever they serve fo illustrate an answer.

L]

This question paper consists of 12 printed -pages.

Copvright: Zimbabhwe Schoo! Examinations Council, J2008.

v

£

ECT J200%

L2
0



https://ecolebooks.com

Do

vvnI oad nore resources like this on ECOLEBOOKS. COM

;
"
1 2
= Section A (Physica! Environment)
| Answer at jeast one question from this section, :
x. z
1 fa) Fig. | shows the major world plate boundaries. " f
i
| ;
™ i
n :
i
; i
:‘f " i
PN . vt
i L : P S ;o
L8000 T I .- Antarctic i
- g0 | .
. LE
Fig. 1 :
(i) Identify one destructive and one constructive plawe boundary] |
(i With the help of examples. describe the dangers of living n‘c% :
plate boundary. ¥
(iiif ~ Suggest measures you would take 1o assist people affected bﬁ :
destructive plate boundarv. 4
1 L)
1

SHET 120G
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9 shows changes in the vojume of water in a river in Zimbabwe.
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.I M i Iy A § O N D

|
F M A
' manths
Fig.2
Describe and explain the changes shown.

How do the changes showr. affect river processes?

Tig. 3 shows the course of & river.

(71

B3

() Fig.
otume of
QIGH —
LOW —
L‘_\Mcs;f" :
- ;
]
b
z:-:-‘ i
(C (i)
~ be ‘-‘ :

g
XL a fx)
LN
doshusirali ¢ O £

V—J’\‘_T

: boundary.

“living nea

affected by

/v direction of flow

Name

Fig. 3

%

the tiver shape shows and the bank marked Y.

Z24£7 72008
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(8 Fig. 4 shows a weather instrumens.

f""lfljl‘l'flill:Il!il]ll'li_]
-5 0 5 0 15 T30 3 30 35 B
° -

'H'f:'r'!r!frf;;.rl

5 30 35 D

Fig. 4

{1 Name the Instrumeny $10wn and the weather element i1 measures, |

(ii) Describe how the Instrument works,

What precaution shouid be taken 1o obtain aceyrate readings from
the insrumen:”

(b) (i) Draw a labelje

¢ diagram 10 show the
rainfall.

formation of convectonal

()  OQutline the hazards associated with convectional rainfa]].

(iii) Asa meteorological officer, what measures would yoy {ake 10,

minimise the hazards of convectional rainfa]] and what problems
would vou enzounter in the process?

~248.2 I2004
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()  Photograph A shows an envirorsmental problem.

1wLasures. [

[

1gs from .

1onal Phoiegraph A

5 . -
: {i) Identifv the problem and explain its likely causes. [5]
What measures can vou take to solve the problem shown in the
=10 photograph? '
blems

[7l

A

CaEC 2008 0
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(b)  Fig.5 shows biomass in different ecosystems in Africa,
2600 ‘
: 2000 | g
5 CoE ;|
‘ . e
< b £l
| 1000 - g 1 f
£ i
2 b
: ] 5 o
500 L& §
° ‘ ] bid
Fig. 5 i
Déscribe and explain the diﬁéréi?ggcs shown.
{¢})  With the help of vxamples describe the main causes of lund vollution if
Zimbabwe, ) S
: 4
Section B (Economic Geography) ‘ B
Answer at jeast one question from this section,
A ! i 1 : : { | :
4 (2y (i List any three sources from which electricity is generated in 3
Zimbabwe. ﬁ ]
se » H ’ : %
(i) Describe the generation of electricity from water, |
(i) What do vou consider to be the benefits and problems associate
with water-generated electricity in Zimbabwe? -

2248:2 2200¢
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Table 1 shows freshwater inlend) fish production in selected SADC
countries,

Table 1
Country Average producrion {tonnes)
Angola 7 000
Botswana 1400
Lesotho 22 ,
Malawi 72 000 S
Mozambique 1500
Namibia =~ - 150 .
Swaziland . 108 :
Zambia' .. . oy “67000°:
Zimbabwe. . 14 000 -
South Africy 6 000.
Tanzania =16 000

(i) For South Africa, Zambig and Zimbabwe, draw a pie chart 1o .
show their catches given in Table 1. [4]

{ii)  Describe and explain the variations in fish production shown in
the tabje, 7]

Many urban dwellers In Africa have of late been involved in urban
agriculture,

(i) Qutline the main features of urban agriculture. [3]
(H)  Explain the recent rjse in urban agriculture in Africa, [4]

(iif)  What environmental and social problems are likely to be faced as
aresult of urban cultivation? ' (71

Yo

S246.7 J200: _
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(b)  Fig. 6 shows thrée methods (X, Y and Z) used to conserve agricultural
resources.

(i)  Name the method used at each of XL Y and Z. 31

(i)  Describe how each'of these conservation methods works.

6 (a} (i) Explain the term “processing industry’.

(i)  For a named processing industry you have studied. draw a labelled
sketch map to show the factors that influenced its location.

by (i} What is industrial relocation?

(i)  As an industrialist, what arguments would you put forward for
and against the relocation of industry?

L H
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(¢)  Fig. 7 is a cartoon showing conflict in landuse in a rural area in
Zimbabwe.

Fig. 7

(i) Name two areas in Zimbabwe where such a conflict oceurs. 2]

(i)  Describe the landuse conflict shown in the cartoon and suggest
how it can be solved. [3]

Section C (Population, Settiement, Transport and Trade)

Answer at ]2ast one question from this section.

() (i)  Describe the factors leading to the development of nucleated rural

settlements. (41
%

(i)  If you were a Rural Development Planner, what points would
you raise to convince locals in a haphazard settlement on the ,
nesd for planned resettlement? 4

22482 J2008
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(b)  Fig.8 showstwo different types of housing found in & town in
Zimbabwe.

X i

(it)

(iv)

A

Describe and explain the differences berween the ™o Types of
housing shown. - [

With reference to an example. explain the urban problems faced
by residents of housing tvpe Y and suggest soltions 10 these
problems.

What problems are likely to be encountered in implementing the
solutions suggested in bii) sbove? [

1dentify and explain one problem commonly faced by residents in
housing type X . ' [

224872 3008
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{a)

1

(i} State any three methods used 10 collect popularion data. [3]

Table 2 shows percentage distribution of population in Zimbabwe {1992},

Table 2
Province Urban Rura! Total
Manicaland 11.45 88,35 100
Mashopaland Central 8.0 91,95 1 100
Mashonaland East 6,01 03,99 100
Mashonaland West 24.20 75,80 100
| Matabeleland North 11,68 88.32 100
~Matabeieland South 811 1 91,89 100
Midlands 25,14 76,86 100
“Masvingo 8.18 91,82 100.
Harare 98,55 | 145 100
Bulawayo 100,00 - 100
(i)  Describe the distribution shown in Table 2. [5]
(i  Draw a bar graph to represent the urban population shown in
Table 2, excinding Harare and Bulawayo. (6]
(b) ~What évidence indicates that there is overpopulation in the communal areas
of Zimbabwe? 4]
(¢)  Asapopulation resource officer, what arguments would you give for and
against the migration of peaple across intérnational boundaries? {7]
A

224872 J2008
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| ;f 9 (a) (i) Define the term ‘protectionism’ with reference to trade. [2]

(i)  What evidence indicates that there is protectionism in Zimbabwe? [5)

(iii)  Suggest two advamages of trade liberalisation. [2]

(b)  Fig. 9'shows the pamre of imports and exports for a country.

{0 i Exports Imports

35

30

¥ 25....

20

Percent

R T e T SRR

15+

10 4

e e e
e p—

i ry
S

}"
(i)  Describe the nature of the country’s trade. [6] }i

T T T T

(i)  Outline the disadvantages of this typs of trade. 5y

o 5 BTS2 e At

(iif) How can this counwry create a favourable balance of trade? . [5].;_ .

P

Ilj e 22482 12006
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(if)

(iii)

[}

Constructive boundary

- between Eurasian and North American plates
- between Africgn and South American plares
- between African and Indo-Australian plates

Destructive boundary

- between and Nazca and South American plates
- between the Eurasian and Pacific plates

1 mark each (2)
Examples: - .Nyamlagira, Mount Vesuvius
Pina Tubo, Mount Saint Helens [volcanoes]
Earthquakes - Indonesia; Algeria (1989);
- Mozambiq_ue (2006)

- death of people

- destructior. of buildings

- destruction of crops

- homelessness -

cutting off of electricity and telephone services
- outbrealk of electric fires

- floods

- hot lava flows

- displacement of communication lines e.g. roads and railways
- shortage of drinking water

- shock

- pollution

- poor visibility

- diseases

- shortage of food

1 mark each danger. ) for examples to a max of 2. (7

- early warning svstems/use sirens

- movement to safer areas/evacuation

- reinforced buildings

- education

- drills for faster evacuation of buildings

- wide streets which cannot easily be blocked by rubble

. lava dams

. underground bunkers

- counselling

- provision of food, fresh water, clothing, medicines
and shelter ' 1.mark each (4) [13]

‘F?‘\T
i
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by - High volume from December to March - rainy season
- Low volume from April - September - dry season
- Rapid decrease (March ~ April) ~ end of rainy season
~ - Gradual incrgaﬁe (August - November) - beginning of rainy season
- Rapid increase (November ~ December) - Increase in rainfall
I mark each. Refer to graph
Reserve 3 for D/E (7

(i)  During high volume period erosion and transpori processes are high -
large volumes and sizes of load are transport
During period of decrease in volume, small quantities of load are transported
and rate of erosion is low.

During low volume period, deposition will be on the increase, 3)
1 mark each
(c)  Shape — meander
Bank — convex/slip off slope 2 112
[25]
1 mark each

2 (8) (i) Instrument hygrometer/wet and dry bulb thermometer

Element - humidity/water vapour content
1 mark each 2)
(i) When dry - the water sucked/absorbed by the muslin also evaporates
ar L this cools the wet bulb thermometer, lowering its
temperature
- the dry bulb is not affacted
- T differences are large
When humid - evaporation is reduced on the wat bulb
- its T® will be slightly lower than the drv bulb/small
difference between the two bulbs -
When saturated- there is no differences berween the two bulbs
1 mark each (6)
(i)  Place it in the Stevenson screen. ‘
Regularly refilling the container with distilled water. (1) (9
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Mark by 1; for each label [5]

(ii)  Hazards

Ligh_ﬁ_ng_ (fires. deaths), flooding, strong winds, landsides, destruction of homes,
Crops, propetty etc. '

1 mark each [4]

(iii) Measures:

afforestation/reforestation, raising river banks, resettlement/evacuation.
settling on higher ground, constructing storm drains, storm abortion.

Problems:

- ignorance, lack of co-operation, remoteness of settlements, capital and
machinery, manpoweymaccessibility, etc

. ' I mark each. Reserve 3 for M/P (M) [16]
[25]

- lighting conductors, early warning systems, education, cloud-dissipation, |

T N ) fams g - . " -

o T PO O

!
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3 {a) (1) Problem - Environmental degradation/deforestation/soil erosion
- Overgrazed ecosystem

Causes: - Overstocking
- Forest clearance
- Burning of veld
- Overpopulation
- Drought

1 mark each
Reserve 1 mark for problem {5

()  Measure, - Afforestation
- Reforestation
- Destocking
- Paddocking
- Regrassing with vetiver grass
- Populaiion control
- Resettlement
- Irmigation
- Educanon
Legislation

1 mark each (7) (12

{by - Equatorial has largest biomass (about 2600 kg/ha) dus to large
biodiversity, high rainfall, high temperatures, a lot of litter.
- Savannah is second highest (about 500 kg/ha) due 1o seasonal rdinfall/
dry winters and moderately igh temperatures.
Desert has the least (about 40-50kg/ha) because of absence of rainfall,
scanty vegetation and absence of litter.

o . 1 mark each
' Reservs 2 for D/E {6) i6]

(c) - Domestic and industrial waste
- Uncollected refuse by city councils .
- Lack of proper dumping places in urban areas
; - Lack of planning by city fathers
i - Lack of supply of bins
- Weak environmental policiss
- Low fines for dumping refuse
- Uncontrolled vending
- Lack of diese]
E.g. Chitungwiza City Council
1 mark each ~ (7) {71
Res 2 for examples: [25]

e e e, e e e
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&

®

(i1}

(iii)

(M)

1 mark each (4)
Benefits Problems
- renewable - drought lowers production
- clesn - seasonal variations in water volume
- cheap - small rivers
- multi-purpose - sharing basins with other countries

i ke this on ECOLEBOOKS. COM

6 4

water, coal, diesel, crop résidues or baggase, sun.
"1 mark each Any3 (3)

water drops from & large head by gravity
it flows through penstocks to furbines
the force of the water turns turbines

the turning turbines move generators

the generators produce electricity

- initial cost of construction is high
- relocation/resetliement of people

1 mark each Reserve 3for B/P  (7)[14]

.
ZAMOM

1 mark each for each segment, labels or key @

., S_DM‘H'\ ATCT."‘M
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(a)

®

(i1)

@)

(i)

(ii1)

(i)

(i)

5
Descriptions Explanationg
- Tanzania hes largest catch - these have large inland lakes and
- Malawi is second rivers , ,
- Zambia is third - long tradition of fishing (fish main
o : diet of communities)
- Zimbabwe, Angola and - few large perennial rivers
South Africa have low - no naturat Jakes
volumes
- Lesotho, Swaziland have - small populations (markets) -
lowest catches - few or no lakes and large rivers
- Namibia has low caiches” - depend on ocean Catches
1 mark each, Reserve 3 for D/E. (7 [11]
[25]

- market gardening.
- subsistence production
- subsistence maize, sweet potato, végetable prodiiction
- pouliry, rabbit production, piggery
- intensive production
- mixed farming
- small scale

| mark each (3)
- unemplovment
- food shortage
- poverty
- high food prices , )
- relaxation of council by-laws 1 mark each (4)

increased erosion
- siltation of rivers and dams

- destruction of green belts
. increased dust levels (air pollution)

. eutrophication of water sources

- loss of natural beauty

- theft

- conflicts : _

- land pollution from litter (N [14)
I mark each

X - windbreak

Y - contour ridging/ploughing

z - legislation - '
I'mark each (3)

X trees act as wind break and prevent wind and water erosion

Y contour ridging increases infiltration and reduces surface runoff

Prevents washing away of soil nutrients
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(b)

(c)

(i)

(@)

(i)

®
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8 W a
Z cultivation 30 metres away from the river prevents washing of soils
into rivers and reduces siltation of rivers and dams (3,3,2) (8) - ' [11]
[25]
Industries concerned with preparing raw materials for use or for further
menufacture/extraction or removal of impurities from raw materials
or ores (2)
Narme 1 mark
Factors - markets, labour
- transport, water supply max. of 2 per factor
- raw material supply B
Examples - Kadoma Textile Industry
- Sugar Refinery
- Wood Pulp Industry 7 [9]

When the industry/industries move from its original location to a new one

Q)
For

- to promote economic development in depressed areas
- decentralisation of industry

- employment creation

- provision of social services

- infrastructure development

- development of other industries -

Against

- unemployment

. loss of revenue

. under utilization of social amenities/infrastructure decay
- migration of skilled and youthful populaiion

. general economic deprassion in old industrial areas

- ghost towns etc

1 mark each
Reserve 3 for F/A ,(7} [9]

Gonarszhou National Park; Chewore N.P, Hwange National Park,
Matetsi. Game Reserve, areas around National Parks, CAMPFIRE, areas, etc

1 ‘mark each @
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e . . ! s * Kl
(i} Descripvion: Villager wants the elephant removed because it destroys
vegetation, and huts. The tourist wants the elephani to remain in

Solutions

the area to.watch qr photograph it

- Relocate the elephant and the tourist

. Resettle the villager elsewhere

- Fence the area to separate the two land uses

- culling

. set up CAMPFIRE
I mark each {5
Reserve 2 D/S

(i} - water shortage leads to clustering around water SOlFCE
- presence of a resource base e, g. irrigation
fertile soils
- defensive points
nodal points
- cross roads areas/points etc
- flat land in 2 mountanous ares
- govermnmen: policy/legisiation
- sozial/cultural, e p. around a chief

(i) - Easter provision of

(i)

I'mark each (4)

ransport
electricity
watser

- schools

- clinies

. 1rrigation

Allows for equitable distribution of arable lang,

X
big house
big vards
guiers
different designs
of houses
houses under tijes
big windows
durawalled

| mark each (4)

Y Explanations

[8]

small house affordability and status symbols

small vards
no gutters affordability

uniform design of individual taste for X
houses

houses under asbestos  for beauty and durability
small window for beauty, more light
wooden fenced security and privacy for X

1 mark each
Res. 2 D/E

affordability and statue symbols

(6

{71
125]
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o | I
(i) Exampless  Mbare. Saiubva, Mkoba Makokoba et | )

Problems: - Overcrowding
. Notse pollunon
- Illegal structures
- Land pollution
- Shortage of water
- Sewage burstng
- High crime rate
- High levels of unemployment
- Drug abuse
- Pressure on schools and clinics
- prostitution
- disease, et

Solutions .~ clean up operations
- efficient refuse collection
- legisiation
- more police patrols
- overhauling sewage systems
= new schools and clinics f‘tu
- education on family planning T
. improve quality of life in rural areas eic :
- resettlement

1 mark each example. 1 mark each Res 2 for P/S (7)

(iii)  Probiems: - Shorage of funds
- Shortage of fuel
- Weak environmental laws £
High birth rate . o
- High rural-urban migration N B
- Corruptien
- Misapprwpriation of funds

1 mark each  (2)
(iv)  Problems: . Theft/burglary
' - Carjacking
- Murder
Explanation: - The residents are targets mainly because they have high |
incomes, large homes and many and beautiful cars, well F
furnished homes i :

Imarkeach (2 U7
Res 1 P/E {25]
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(i) - Population census 4
- Vital registration system e, g from schools, hospitals, parishes.
- Sampie surveys } mark each (3)

(i) - Bulawavo has the largest percentage in the urban area which is hundred
percent and with zero in the rural areas, followed by Harare which has
the second lowest percentage in the rural areas,

- Mashonaland East has the largest percentage in the rural areas.
- Mashonaland East has the smallest percentage of population in the yrban
areas. etc
1 mark each
Refer to table. (5)
(i)  Bar graph
y~ mark for scale
¥ mark for name of province
J2 mark for correct bar
NB: Wrong or no scale = no mark, {6 [14]
.

- shortage of land for agriculture :

- declining yields

- evidence of land degradation, ¢, & soil erosion .

- the use of marginal land/areas which cannol support sustained agriculture

lack of adequate grazing land-
exodus of people from rural areas into towns

- disappearance of the natural woodiand

- starving animals

- high incidence of disease I mark each (4) (4]

For

- importation of knowledge and skillstechnology

- generation of foreign currency when people overseas. send money home

- importation of foreign goods which could be better than Jocal goods

- creation of job opporwmities,

Against

xenophobia ‘

brings about “brain drain” or less of skilied workers

local goods become expensive since prices can be determined by people
overseas

Importation of foreign cultures

family ties are broken

decrease in production/underutilisation of resources

1 mark each

Reserve 3 for F/A (7) | (7}
' ' [25]
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(®)

{1
(i)

{iii)

@

(if)

(iii)

12

These are methods used to proiect & country’s economic interests  (2)

t

ause of tariffs to discourage the importation of goods into the country

aliocation of quotas to conirol the quantities of imports coming into

the country
offering subsidies e.g tax concession to encourage exports

1 mark method: 1 mark explanation (5}

limited trade restrictions
more trade partners -
more goods
trade relations improve
more foreign currency
xenophobia
decrease in production/under utilisation of resources
1mark each (2)  [9]

more import/less exports

exports mosily raw materials

imports mostly processed goods

highest import is machinery and lowest is beverages
highest export is gold and the least is textiles
farrochrome is the second highest export

transport of equipment is the second highest import-

1 mark each pount
Refer to graph (6}

negative, adverse or unfavourable balance of trade

exports are of low value — primary goods

imports expensive, high value

shortage of foreign currency

Jow prices of exports determined at mternatmnal commodity market
prices of primary goods always fluctuating because of flooded marketk
prices of manufactured goods always rising .

competition from other countries sellinig pnmary goods

1 mark each (5)

reduction of dependence on the export of unprocessed primary raw
materials '

exports of processed goods/beneficiation of primary products
diversification into new high quality and competitive products
minimisation of costs of production by purchasing high technology
machinery

use of tariffs to discourage the importation of goods into the country
allocation of quotas to control the quantmes of imports coming
offering‘of subsidies e.g. tax COnCEssion 10 encourage exports [16]

I markeach (5) [25] -;:‘1:5 g ,'
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possible answers, A, B, Cand D. Choose the one vou consider correct and record vour choice in
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Mapwork

Questions 1 t0 12 refer to the 1:50 000 map of Mapeta, Zimbabwe.

What is the'dr:aiﬁa'gé chgracteristiq of both the Deka‘and Matetsi rivers?

CA- meandering

B ox-bow lakes

C gorge sections

D distributaries

The direction of flow of the Deka river is
A North East.

B North West.

C South East.

D South West.

What is the approximaie area of culiivated land in grid square 58907

A 2 km?
B 1,5 km?
C 1 km®
D 0,5 km®

The six-figure grid reference for Mwemba Dip is

A 540880.
B 541896.
C 896541.
D $80540,

Which of the following grid squares nas the steepest slopes?

A 5783
B 5683
C 5583
D 5483

The physical feature in the north east corner of the map between Eastings 56 and 60 is? *‘

A gorge.
B ridge.
C plain.
D = platean.

2248/ N2008.

T -
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All of the following are reasons for the location of Chief Wang

35°

155°.
180°.
275°

5389 except nearness to

A

B.

C
D

The settlement pattern made by huts in grid square 5797 is

A
B
C
D

The length in km of the main road between Eastings 56 and 58 is

A
B
C
D

powerline.
road.
water.
people.

linear. -
scattered.
rectangular,
circular.

3,5.
2,5.
1,5.
0,5.

Downl oad nore resources like this on ECOLEBOOKS. COM

3

The bearing of .610 in grid square 5884 from .608 in grid square 5689 is

e’s home in grid square

The reason for the small area under cultivation on the map extract is the presence of

TOwe

steep slopes.
mining.

fishing.
commercial forests.

2248/1 N2008

{Turn over


https://ecolebooks.com

i ke this on ECOLEBOOKS. COM

Downl oad nore resources

The diagram below shows a section drawn along Northing 00.

12

metres

7001+

6801

660+

640

620+

600

. 580

The area represented is between Eastings

57 and 640.
47 and 53.
53 and 39
56 and 61.

A
B
C
)

-]
=3
=
=]
z
S,
L
.4
o
o
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16 Study the layout of a school shown below, *

. v 3
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«
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¥ oaop
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- '\‘ LI T S
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A
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U
L
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» . A A A wm g a
t A .J\.a.a-nd.a.ad.a..n. 3
ﬂﬁhﬁﬁ&ﬁqﬁnﬁﬁﬁhﬁﬁ
‘hﬁﬁﬁ‘-ﬂﬂﬁl-}\- L
nan«nn.av-.r.-.nv:n
lﬁhﬁi—ﬁﬁ*hﬁﬁﬂhﬁ‘.ﬂ

i
| Road

At which of the sites A, B, Cor D would there be a more serious problem of raised
temperatures if a weather station was established there?

17 Study the table below showing weekly readings of the Six’s thermometer,

/ Monday | Tuesday I Wednesday / Thursday ) Friday I Saturday / Sunday 7
| [Maximom { 20 , 35 I 30 / 33 I 38 [ 26 [ g7 7
temp (°C) ' ' '
Minimum ! 15 I 17 I 20 ’ 11 l 14 , 16 ! 17 7
OC}

2248/1 N2008
' [Turn over
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Physical Envirenm ent

13 Study the djagram pelow,

fm
H —— -
02— e %

‘, ’//__ r——

| — ——

| > ,‘""’

‘ e —
- i
—_—

8§ - - -

| S ~.

-
| ~ -
s

| e

| -'7—_-— T e

| o -——_{;\
A Eanl . £
== : - e ~

~ A — vy
| - -.--—-—'—"-’.-‘:" ,.‘-"" e
h“i—_’d-‘_.-.——f—hi-._-——”- \-—!—_—-/

| _ground surface

Which weather condition i thz cloud tvpe showg associated with?

occesional showsars

heavy convectional raindaj!
very light rginfall
continuous cyvclonis rainial.

Unwme

"As the evening approachec. e skv bezame overcast and a south easterly wind
suengthened 10 some 23 knois, 1t begas 1o drizzie and temperatures dropped 1o 15°C",

A ;‘H 3323

—
.

C;.S"\\ Dl;
7

Whichof A. B.C or D represents the siiuation described above?

224871 N200g
{Turn ever
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135 Smdy the weather map below.

\ Key
~1000—
A I;g-g isobar in mb
84
985 D A000
A.Q_go_ 00_4 Q .
. 0
. G ) . 008
{0
B , & , o
{D y‘\b—

At which of the stations A. B, C or D is a cold front approachin
998 millibars?

~y

224871 N2008
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Which of the following is a river depositional feature?

A levee

B pot hole

C waterfall

D cliff

Study the diagram below.

{i:\..,.

NN\
E

The fault resulting from the movement shown is called a

A normal fault.

B reverse fault.
C simple fault.
D tear fauil.

At which of the following regions is plate movement described as constructive?

fold mountain belts
mid-oceanic ridge zones
island arc regions
oceanic trench zones

DAw>

‘y ‘
2248/1 N2008
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A
B
C
D

The diagram below illustraes 2 drainage patiern,

The pattern is called
A dendritic,

B parallel,

C radia].

b trellis,

corrosion.

exfoliation.
frost action.
root action,

!

contour line

224811 N2008
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Study the photograph below.

The type of vegetation shown has adapted 10

A

B

- C

D

The practiée of growing trees in an area that never had any before is called

[“No Rl

Which of the following desert {andforms is produced by water deposition?

A

B
C
D

Which of the following fossil fuels is the cleanest?

oOwW>

Jow rainfall and high temperatures throughout the year.
hot, wet summers and cool, dry winters. '

warm, dry summers and cool, wet winters.

heavy rainfall and high temperatures throughout the year.

afforestation.
deforéstation.
reforestation.
revegetation.

butte

rock pedestal
wadi

alluvial fan

Economic Geography

natural gas
coal

crude oil
uranium

2248/1 N2008
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27 The diagram below shows a hydro-electric power plant.

1 Which of the following représents the head of water and penstock respectively?

Head of warter Penstock
A W ¥
B X Z
C Z X
D Y W
28 The Zimbabwean government is removing people from Gonarezhou National Park. The
aim 1s to -
A protect soil from over-use by subsistence farmers.
B protect the villagers against dangerous wildlife.
C create more space for irrigation.
D create an extensive international game park.

2248/1 N2008
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29 The map below shows the growing area of a certain crop in Zimbabwe,

@ BULAWAYO

Main

Which crop is it?

A citrus fruit
B tobacco

C sugar cane
D tea

2248/1 N2008

3
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net profit per hectare (3000)

Study the diagram below,

13

8000

6000

4000

e

L.
.....

= ~
- -
R L

2000

0 s | B LT
0 20 40 60 80 160 120 140 160
distance from market (km)

Which of the crops A, B, C or D 15 generating the highest profit at a distance of 50 km

from the market?

2248/1 N2008
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Study the diagrams below which show different farming systems.

31

- u hr Gm am B M e B e e mm mm b b b e B M AR P B M e = e o

o e e = = am oEs owr S o Ee omr Em omm me own Em G o e

Land

Downl oad nore resources

Which of the diagrams A, B, C or D represents intensive market gardening?

2248/1 N200§
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32 Study the graphs below,

>
- -
--0

nnnnnn

- — e e e o

numbers employed -—» Qg

I
!
Low !

Time in years. ——

At which of the times A, B, C or D is the country least developed?
33 Which group of activities is made up of tertiary industries only?

banking, research, farming

transport, food processing, marketing
marketing, transport, insurance
tourism, fishing, banking

TOw»

22481 N2008 :
[Turn over
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16-

Population, Settlement and Trade %

Study the pie charts below showing proportions of population living in urban areas for
four countries.

7,
K_ey //J % urban

Which of the countries A, B, C or D is most urbanised?

2248711 N2008
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35 Study the diagram below. ;
' |
\ l
‘hut }k\footpath
£ / |
ol -~
DQ : II house :
f i
S |
[ Ry I
5 W L™ .
r f
L
0 500m |
R |
| b
;
§
!
The pattern of settlernent shown is
A dispersed.
B clustered.
C linear.
D radial.

224811 N2008
[Turp over
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36 Study the map below.

il
i L
I
]
e

fa—y
"1y

AL
L4

2 & S /s
y/ ] S s S
7 g
B~ 1 3
Dy AT
Ll dI ]
Key ¢ 1 2km

Residential(Low density)

|
[==e=ms - Commercial Business
- Air Bage

: | Industrial

82 | Small Holdings

‘ \ﬁ\\g Transport{Station)

E ;] Social Land,Recreational

:::k?':: Residential{High density)

| I ' '
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Mr, Moyo worls at a stee] company and lives in an overcrowded residential area. Which
of the following shows his work place and where he lives respectively?

g Work place Where he livés )

A 1 5

B 6 | 2

C 2 4

D 3 1

Study the table below.

Country Birth rate per 1000 per year Death rate per 1000 per year

A 13 12
B 47 15
C 50 16
D 54 12

Which country A, B, C or D has the highest natural rate of population increase?

The difference between the value of exports and imports for any country is called

A balance of payments.
B batance of trade.

C invisible trade,

D visible trade.

2248/1 N2008

A
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39 Study the map below showing the number of journeys taken by buses in Zimbabwe per

week,
Scale

0 50 100 150 200
Klometres

Below 30
. 3i-s0

B

- Above 80

How many journeys do the buses make between Harare and Chinhoy1 weekly?

A below 30
B 31-50
C 51-80
D

above 80

40  What term describes the daily movement of people to and from work using various forms

of transport?

A commuting
B circulating
C cycling

D migrating

2248/1 N20038
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Section A (Physical Environment)
Answer at least one question from this section.

rwo landforms resulting from voloanic activity.
agh and lava

suggest any two effects of this feature on densely settied coastal

areas.

(4}

2248/2 N2002

"]
El
1
i
g
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o e

; layers
Als ey
i . 7S,
UYTYA  counwy Tocks Y
"::’.\\f o ’ L_,\. 1'
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i TNy A se5
o AN, sea ATEEh ; I
7 e e
“iie Ww*;&// i I G AR
O A A s Ty Pty
AN AT NN R AT T L oy AT Ly T Lri el v
A A A A AT T T s R et
X Y
Dormant Active
Fig. 1
i) Explain the difference hetween active and dormant volcanoes. [2i
(ii} Describe how each of the landforms markad X and Y in Fig.l
could have been formsd {63
(iify  The eruption of landform Y may trigger fsunami in the
surrounding ssas. Explain what is meant by the term tsunami, and
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{b) Table | shows environmental conditions under which weathering 1akes
place at thrse different places P, Q and R

Table 1
5 .
P Q R
| Mean apnual tlemperawre (°C) 26 * 16 23
g i Annuai temperature rangs (°C) 3 i 18 25 K
[ Total annual rainfall (mm) 200 1500 200 -
Latitudinal iocation {¥N) 2 45 30
| Rock type ! granite limestone granite
{B Distinguish berween physical {mechanical) and chemical |
weathering. [2} ;
{if) Uising information in Table ! only, describe the weathering that is ;
likelv 1o be dorminant at each of the places F, Q and R. 6} f
> P :
i
(i)  Suggest why landforms at Q would differ from those at F. 5] ‘

22487 N2D07
[Turn over
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fa) Fig. 2 shows sources of air masses and winds affecting Africa in January.

f/ i?URCEI | {

--------- SN

SOURCE 2 ‘

Kev

e Weather station

~— Wind

Fig. 2

(i) Name and describe the characteristics of the air masses originating
at cach of the Sources | and 2 shown in Fig. 2. [6]

(i)  Explain the possible weather conditions developing along Zone 3
shown in Fig. 2. [5]

(i)  Suggest two weather hazards likely to be experienced at the
weather station shown and, for each, propose one solution to the
hazard. [4]

o P ) o o =T S g S
AP R R U R S A Y

224872 N200p2
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(b)  The graph below (Fig.3) shows the rainfall pattern in Zimbabwe from
1901 10 2004,

]
|
=
_‘-‘--“‘—_
) e 8
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|8
"'—E‘
s
oy
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]
al]
ez
K‘-

o=
<

e 1WA

=

Rainfall{nun)

40
200
YLz R EIsseEELREE R B2 s X E &
: ! SfsfsxSgjihiggreeggerreggrnes
;l $§5 52323 5c5 333200838888 z8¢E83¢F ¢
el o B B T - - B B - & -
e k i
Fig. 3, ;
(i) taie the mean (average) annual rainfall for Zimbabwe shown j
and describe how this figure is caleulated. (2] j
(iij ~ How would the rainfall trends shown in Fig. 3 be a problem to
boibh the farmers and the government of Zimbabwe? {71
2 (a) (@) Explain why bacteria is very active.in tropical rainforest
scosvsiems. (3]

(i)  Despite the very high levels of bacterial activity in the tropical
rainforest ecosystem, suggest why humus content in the soil is
very low. (3]

22457 N2905
[Turn over
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(b)  Study Fig. 4 which shows vegetation in three different ecosystems A, B
and C.
B
el ) NNy

Fig.4

(e}

(i}

(ii)

(i)

(i)

For each of the ecosvstems showr, describe how the vegetation
has adaptad 10 the prevailing environmental conditions.

Give one reason why there is plenty of wildlife in the ecosystem
marked B in Fig.4.

How has the iand reform programme in Zimbabwe affected the
Savanna scosvsiemn”

Propose measures to deal with the effects of the land reform
programme on the Savanna ecosystem in Zimbabwe.

22458/ N2008

(1

(1]
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Section B (Economic Geography)
o Answer at lezst ome question from this section.
4 {a) Sustainable use of resources has involved the use of permits and the
recyciing of used materials.
() Define the term *sustainable use of resources’. [2]
(iii  Using examples. show how the uge of permits and the recycling
of used materiais leads to the sustainable use of resources, [5]
(b)  Photograph 4 beiow shows the mining of coppst in Zambia.
I
i
i
I
i
Photograph A
(i) Describe the scene in the photograph. [4]
J2485 2008 - .
[Turn ever
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1535 ! (i) ~ What geological and economic factors encourage the exploitation

| of copper using the method shown in Photograph A? [6]

jf ‘J ' (iif)  Outline the environmental effects of mining copper using the
il method shown. - [4]

4: ” {c} It has been observed that the naturai resources in Zimbabwe

are so plentiful that the current population in the country is insufficient
to fully exploit them. Support this observation with the help of examples. [4]

(a Fig.5 shows a factor influencing farming in Zirnbabwe.
£ 2 g

th

Pre-season pricing
e \\:};ARM" Mille ice control
o :"5 4 St—n ers =i Price controls [ Consumers
Marketing
Fig.5
(i) Name the factor shown and one crop affected by this factor. [2]

(i)  Describe. using information in Fig.5, the production of the crop
npamed in {(a)(i) above. [6]

(ifiy  Sugges: problems that have arisen in Zimbabwe as a result of the
productior. of the crop under the conditions shown. [4]

22482 N200k

i
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(b}  Table 2 below shows straregic exports for Zimbabwe in 2005,

Table 2
; Crop - | “e weight in agriculture ﬁ_,
i [ ! |
i Tobacco ! 253 ]
i : . !
i Horticulture P 6.5 o
| Cotion _ ; 12.3 Bl
| Sugar : 6.5 o
L ! ’
{ Beef _. 10.0 b

(i) Draw g bar graph 1o illustrate the information given in Tabje 2. 6] .
(ii}  Despite significant foreign currency earnings for the country,
outline one problem faced by each of the tobaceo and beef £xports
of Zimbabwe, [
L

(iif) Propose solutions 10 the problems stated in (b)(ii) above. [2]

(e} Describe three wavs in which the manufacturing indostry in Zimbhabwe

Is closely related to agrieulture, [3]
¢ (8} Fig.6 shows materials and costs invoived in the manufacture of three
products by soms industries.
o ' -r‘ ‘ r
(.i ! ) ! ) g ! : : ; 190""’
1 e 5o
| Sugar Waste ? Sugar refining
i
0 50 100%
Labour costs Other costs TV assembly
0 50 100%
Mining Labour " {Transport] ing
costs | costs | Power cosis/use osts Q}nmum
Fig.6

With-the help of examples drawn from Africa, explain the most
appropriate locatior. for each of the Industries given in Fig.6. [9]

II48:2 K008
' [Turn over
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Table 3 shows trends in the performance of manufacturing industries in
Zimbabwe.
Table 3
| Vear No. of operating industries [ % operating capacity
1980 6947 78
1990 - 4679 95 |
72000 ; 7118 5 L
1 J
12006 . | 564 30 ;
(i)  Describe and explain the trends shown.
(i)  As Minister of Industry and International Trade, what measures
would vou take to improve industrial activity in Zimbabwe?
(i} Define the term ‘service industry’..
(iiy ~ Describe the role of information technology in the tourism

industry of a country,

224872 N200K
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Section C (Population, Settle{::ent, Transport and Trade)

Answer ai lezsi one question from this section,

[

7 () Fig.7 shows changes in a rural settlement in the Midlands Province of
Zimbabwse between 1999 and 2006,

£ 7 . 2006 i
hi . ‘ T ad i -
. ’ o9s Workers b JTW F
i ' “2es Compound e
/..:~mP“n _ gy Vg
X ope, . T -
.t { T3 Foomwath -
.3& F pryy < :
: | . . FA :‘n:mhouaﬂ
T H ' Hinte +’ s N ]
\ ..E ! Farm house < . IR /’ Footpath \
N 7 | Fruitsra Py RN
-' \ *Kailway l 18 a
\ : W fr&—Nair tarrsc rosd e
i . hp & L
| ’ '
[
P 7 - } ] i Farm bMes

Fig. 7 i
|

(i) Describe and explain the differences in the rural settiement betwesn .
1995 and 200¢ shown in Fig, 7. (7] i

(ify  Explain three advantages of the settlement pattern for 2006
shown ir. Fig. 7. (3]

(it}  Which methods has the Zimbabwean government used in its

) latest resattizment programms? [4]
by (i) Distinguish between urbanisation and urban growth. (2}

(i)  Inthe 21" century, urbanisation and urban growth have been more
rapid in developing countries than in developed ones. Why do you
think this has been so? [7]

(iify  Stare and explain one negative effect of rapid urban growth
in developing countries. 2]

224872 N300
[Turc over
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8 (s)  Fig. 8 shows population density in Zimbabwe in 2002,
Population per 5¢ km e
over 30 A
10 - 30 .
under 10 @ \L .

. BINDURA A @(
ORIV ol ]
e \® It 5// s
\ ® FWANCE
i \\u @ éaﬂ
\'\ e U ooz
‘\ @ » GWERU L ]
o ’
. 3
\“\% @ . )
BULAWAYD zm*vm d |
= @mﬂ £2i: i/ ‘
e - //
0w W W /
L""‘"""‘_-j - e G BETBIIDGE /
S, o — ® — ~
Fig. §
() ~ What is meant by the term ‘population density’? 2] ; ‘_-{;
(i)  Describe and explain the population density shown in Fig.8. 8]

(itiy ~ Suggest how the government’s land reform programme might
have affected the densities shown in Fig.8. [4]

(b)  Explai why population growth rates arc slowing dowr in many countries
of the developing world. 15]

2248/ W2O0E
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(¢)  Study Fig. 9 which show . -
= < a :
in Southern Africs source of water supply in a rural environment

Fig. 9

()  Identify two diseases associated wi
.. = d with vectors whj
living around the area shown in Fig.9 will suf;:r fc;gxieo ple [2]

(ii) Ai a rural health worker, for each of the diseases you have
1dvnt1ﬁed‘ o (cX(1) above, propose twe measures you would tak
to deal with it, ; [4]

2245i2 N2008
{Turr over
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Active - ‘Volcanoes erupting now, frequently or showing signs
of activity

Dormant - volcanoes that are ‘resting’/sleeping/erupted in
recarded history

! mark each )
X Y
- volcanic plug - _shield volcano

made from basic lava

erupted from many vents/fissures
lava flowed extensively from
seafloor sideways

emerged above sea surface to form

- made from viscous lava -
- erupted through a vent - -
- lava solidified in pipe -
- exposed to the surface by

erosion -
- lava more resistant than country island
rocks ‘ - violent eruption

1 mark each. Res 2 for X/Y. Accept crater formation for Y

NB: No mark for name of feature. 6)

Tsunami - giant waves generated by earthquakes (hers caused by
the violent eruption cf the voicano) /2

Effects - kiltling of many people/drowning N

- burying many alive

- buildings collapse, injuring people

- roads, telecommunications disrupted
- crops/food supplies destroyed

- disease outbreal erc.

Any two effects 12 4y [2]

Physical weathering is the breaking down of rocks when heat and/or pressure
is applied on them while chemical weathering is the decay of rocks. ahering
their chemical composition.

2 marks apy 1 full difference (2)

carbonation/solution
¢ool temperate arca
high rainfall

low T°% .

- hyvdrolysis/humification -
- Egquartorial area -
- high T°s, small T° range -
- higb rainfall -
- thick vegetation - accept detailed description of
- active on granite carbonation

Accept detailed des'cription of hydrolysis/humification .

R
- exfoliation .

- hotdesert area
- large T° range
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- low rainfall
- induced by T® change
- accept dewiled description of exfoliation

2 marks each by }s (6)

Landforms at Q

- accept surface landforms/features like grikes, clints, swallow holes, dry
valleys, blind valleys, uvalas, dolines and poljes. Also accept features
subterranean such as caverns, stalactites and stalagmites as well as
underground rivers

. main reasons ~ products of carbonation on iimestone rock in a temperate

area
Landforms at R

- accept dryland granitic features such as spheroidal boulders, scree,
inselbergs, pediments _
- main reasons — products of exfoliation and fiash floods on granite rock in

a hot desert environment .
| mark each. Res 2 for Q/R. No mark for mere mention of landform(5) [13]

[25)
Source 1 Source 2
Name: Tc/Tropical Continental Tm/Tropical maritime/2
Characteristics: - hot, dry, stable - warm, wet. unstable

[

2 marks each on characteristics /4 [6)

- 1 mk for idemifying Zone 3 as the ITCZ/Intertopical convergence zone
. the hot, Tc undercuts the warm moist Tm

- convective activity takes place

- the rising air expands and cools

- cumulonimbus clouds develop in line squall form

- heavy rains fall, accompanied by thunder and lightning

1 mark for name of zone and 4 for descriptions (3)
Weather hazard | - lightning
Solutions - lightning conductors, education, staying

indoors, EWSs(early warning systems)

Woeather hazard 2 - .violent winds
Solutions - EWSs, evacuation, planting trees around

homes, barricading homes

Weather hazard 3 . flooding

Solutions - EWS, evacuation to higher ground. river
embankments, flood control dams, rescue
opegations
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(b)

(a)

(b)

6

(ii).

()

(i)

4
Weather hazard 4 hailst:amls
Solutions: staying indoors, education, EWS, cloud
seeding
Any 2. 1 mk for name and 1 mk for solution 4) [15]
Mean rainfall - 700 mm /1
Calculation - add the mean annual rainfall of the 103 years and then
divide by 103 /2
Or: - add the individual annual totals and then divide by the
number of years covered /2 (3}

- trends show unreliable rainfall

- both cannot accurately plan using the available data

- above normal rains will cause flooding (aceept all problems related to
floods}) ‘ _

- below normal rainfall results in drought {adcept all problems related to
droughts)

- problems of flood control, evacuating people, diseases etc should be
accepred

- costs of dealing with droughts e.g, importing food, building dams,
relocating people and livestock to drought-free areas should be accepted

Candidates can pick on specific years of flooding and droughts and outline
the probiems faced individually or nationalfy. This is acceptable. 1 mark
each point. (7) {10]
[25]

Reasons - high rainfall '

- high temperatures

- large biomass to act on

- stable ecosystem

I mk each (3}

Humus content is very low because

- much is quickly taken up by rapidly growing vegetation
- it is Jeached by water

- it is washed away by surface runoff

- it is food for small creatures e.g. ants and termites

I mk each (3) [6]

>

tall trees — rapid growth, high T°s, high rainfall, competition for
sunlight _

- buttressed roots — shallow soils, to anchor the huge trees

- climbers/lianas ~ for support, to get to the sunlight

little undergrowth — canopy /3

umbrelia shaped tree - scattered trees — space to spread out
. - 1o protect roots from the sun

oo

e N g e

B Ly e

[IEtrE

e T
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- 'choked trunk
tall grass
- dry grass

@]

cactus/euphorbia

‘Reasons — plenty of food; plenty of space 10 move/hide (1)

| i ke this on ECOLEBOOKS. COM

- fire, heat, effect of wind
seasonal fire, spaced trees /3
dry season/low rainfall

- succulent leaves - to store water,
long hot dry climate
. thotns - to reduce evapotranspiration

losses
- few plants ~ hot dry climate and poor
soils - /3 (%)

[10]

- plenty of water on the surface

Effects of ecosystem

Possible measures -

Sustainable use of resources

Use of permits -

Recveling =

deforestation

destruction of anima! habitats
increased soil erosion
reduced rainfali

fire clearance — destruction of micro-organisms

burning loosening soils

increased surface T°, CO, emissions and global

warming
destruction of wildlife through poaching etc.

1 mark each (5}

legislation against tree cutiing, use of fire
fines/imprisonment against poachers
education (esp. by AREX)

frequent audit/monitoring of fanduse systems
police patrols to implement measures €12
reforestation.

1 mark each  (4) 9
[25]

- the wise use of resources by the present
generation so that they are available for
future generations
2 marks for full definition.  (2)

¢.g. fishing/hunting permits — this restricts the -
quantities caught/hunted; it controls times for
fishing/ hunting; permit holders declare what is
caught/hunted; permits are expensive to limit
the number of holders; this prevents
overfishing/overhunting to protect the

fish/animals.

e.g. of paper/scrap metal/bottles — used
matetials are reused over and over; this
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reduces the cutting of softwoods to produce
paper or the mining of more minerals for
metalé and botties; available forests and/or
minerals are conserved for future use.

I mk each. Res. 2 for Use/Recyling (5)[7]

- open cast mining

- mechanised mining

~ dregline digs and loads the ore

- tipper lorry takes the copper away

- flat operating platform '

- rough rock exposures around

- some rock rubble piled on ground (result of blasting?)

Geological

Economic

Environmenta] effects

{¢) Reasons

tn

(&

(ii)

Factor
Crop

1 mk each (4)

ore less than 50 metres below the ground surface
- ore seams horizontal and extensive

- ore body-above the water table

-  ore concentration 1o be economic

capital required in large amounts to: buy the machinery;
pay the skilled labour; pay for transport and power; install a
crushing plant _
- demand for copper must be high to warrant large capital
investment etc

I mk each. Res2 for G'E  (6)

vegetation clearance to start open-cast mining
- mountains of removed overburden
dust poliution from blasting and moving
machinery
- noise pollution from machines and blasting
scars on the surface afier abandonment of the

pit

- pit filled with filthy water — mosquitoes,
snails etc ’
1 mk each (4) [14]

much land in the country unoccupied i.e. population density
for the country is small at 30/km”

virgin forests still plentiful in the country e.g. Eastern
Highlands, Gokwe North, SE Lowveld, Zambezj Valley etc.
minerals are continuously being discovered e.g. platinum,
diamonds, gold, coal, natural gas

wildlife is in abundance ~ most poachers are from outside
Zimbabwe

1 mark each point and 1 mk each example (4) [4] [25]

govermment policy /1
maize/wheat /1
1 mark each @

Only maize is described here
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government announces selling prices of maize
to farmers to encourage them to plant more
maize as it is a staple food crop

these are supplied to farmers, esp. Al onesat a
subsidised cost, or usually for free. A2 farmers
have to buy their own fertilizers, ammonium
nitrare and compound D. Government imports
or asks local producers to supply

see the fertilizers situation

from the farms, it is compulsory in Zimbabwe
to sell maize to the GMB at prescribed prices.
The GMB then sells to maize millers. As
miliers supply retail outlets, then sell at prices
determined by the state.

1 mk each. Res 1 for each aspect  (6)

late announcement of producer prices
pre-season prices may not be given so farmers
do not grow enough hecrarage of the crop.
fertilizers and seeds may be insufficient,
forcing government to import, wasting scarce
forex

some farmers sell the fertilizers and seeds,
resulting in low crop vields

much corruption has resulted from the
distribution and allocation of sesd and feruilizer
millers by-pass the GMB to deal directly with
farmers, creating a shortage

price controls make millers cheat, fuelling the
black-marker '
consumption of seed as food
late distribution of seed and fertiliser !
poor quality of seed

inflation

shortage of fuel

¥ mark each (%) ri2]
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(ii) . Tobacco - low volumes exported due to anti-tobacco Jobbying
drought, poor guality caused by disease
Beef - diseases (anthrax, foot and mouth etc.) ieading to

suspension of exports, sanctions
politics where traditional mkts snub Zimbabwe’s beef

drought .
| mkeach  (2) H

Jook for other mkts e.g. RSA, East Asia etc.
follow stringent advertising standards on effects of

tobacco to educate consumers

(iliy  Tobacco -

Beef - buy adequate medicines to deal with disease outbreaks

- quarantine affected areas and vaccinate :
maintain high standards of animal husbandry :
closely monitor and control rnovement of buffalo from

parks
1 mk each (2) (10

supply of fertilizers e.g. ZIMPHOS
manufacturs of chemicals — insecticides, fungicides etc

manufacture of agriculure machinery e.g. ploughs. tractors
processing of agricultural produce e.g. Biue Ribbon

- manufacture of irrigation pipes
3y  [B] [23]

(c) 3 ways -

6 (a)  Sugar - E.g. Triangle/Hippo Valley/Chiredzi (1)
- raw material location (1)
" to reduce transport costs: (1) — 85% of the sugar cane is waste

and only 15%$ is sugar (1) /3
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E.g. Phillips/WRS - Harare/Bulawayo (1)

skilled labour location (1)

skilled labour location (1) _

skilled labour is available in large cities (1) where there is also
accommodation angd entertainment (1). 1t would be costlyto
move the labour to new sites (1) /3

E.g. Tema/Akosombo {Ghana) (1)

power-based location (1) _

in this industry power costs are the highest (1) (55%)

the making of aluminjum needs much power (1) (the
electricity needed to make one tonne of aluminium is as much
as that used by an ordinary house in Europe in 12 vrs) 3

In each case, 1 mk for name of industry, 1 mk for locational oriemtation and 1 mk for

reason

0

(i)

9]
Descriptions
- 1980 - 1990 - decrease in operating industries
- 1990 - 2000 - decrease in operating industries
- 2000 - 2006 - sharp decrease in operating industries
- 1980 - 1990 - increase in operating capacity
- 1990 - 2000 - decrease in operation capacity
- 2000 - 2006 - decrease in operation capacity

Explanations

Increase in opérating capacity due to; country independent: period of
reconstruction to 1990; forex available; mkis available

Drop due to:

Measures

~  economic sanctions

shortage of forex
- inflation
- lowexchange rate
- factory closures -
- wage and pricing policies
- entry of RSA, China and Botswana products
- power and fue! problems
- less'manpower, etc

I mkeach Res2forD/E  (5)

- devalue the Zim dollar

- promote the tourism industry for more forex
- reduce tax on company export samings

. import more fuel and power |
- deregulate pricing and wage laws ]
- look for markets elsewhere e.g. ‘Look East® policy )
- integrate with SADC

i capital injection into industry by RBZ

. smnart partnerships

I mark each (5) [10}
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10
(c) (i) Service industry - an in‘dust‘ry which provides back-up to other
economic activities in a country
2 marks for complete defipition (2)

(i)  Role of information technoiogy is to

advertise the tourist atiractions e.g. on the internet
reach as many tourists as possible
inform on : hotels available and their ratings

: banking facilities

. transport facilities

: package tours

' security

. ' bookings etc.

- provision of more entertainment

| mark each Credit on types of information to attract tourists (4) [6]

[25]
7 (a) () 1999 2006

Descriptions Descriptions

- few buildings/modern - many huts

- main farm house and few outbuiidings - few modem buildings

. compagt/clustered workers compound - former farmhouse destroyed

- buildings scattered - linear rural settiement ;

- workers compound - no workers compound

Explanations Explanations 1

- commercial farming area - land reform .

- separation/segregation of commercial - former farm sub-divided into |
farmer and workers many smaller plots to

accommodate more farmers
- mainty huts as these are
newly resettled farmers

i mk esach. Res. 3for D/E  (7)
(i}  Advantages: Easier provision of
- piped water
- electricity
- irrigation
- schools/clinics
- information
- services, e.g. AREX
- transport, ec 1 mark each (3)

.
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(iii) Methods of latest resettiement programme

- government acquired land compulsorily from former white commercial
farmers: this was done though the press/government gazette
- Black settlers applied for land offers under Al or A2 schemes
- offer letters given to vetted land seekers
- compensation only for improvements to former owner
- 99-year leases given to new occupiers
- new settlers move in, building mainly huts in the process
- audit of land use undertaken by government
- fast track land acquisition
farm invasions, etc
| mark each point  (4) [14]

the process of acquiring urban ways of life e.g. use of
piped water, electricity, entertainment, transport,

by (i) Urbanisation

housing etc. /1
Urban growth - the physical expansion of the built-up areas of towns ’
and cities and their population growth. /1 ] I
2 marks for a complete comparison @) ;
(ii) Reasons - these to relate to rural problems and urban attractions
e.g. lack of education, health, good sanitation in rural-
areas

lack of industries, jobs, entertainment in rural areas
the lure of towns/cities through perceived existence of
jobs, good housing, entertainment, health; education,
transport etc

- rapid population growth in rural and urban arsas of
developing countries

- long history of urbanisation and urban growth in
developed countries — they are now beyond the peak

- low or no population growth in developed countries

I mk each point (7)
(iii)  Negative effects
- shortage of housing
- growth of squatter/informal settlements
- pressure on water, POWer, transport, sewage systems

- crime
- prostitution’
- negative impacts of growth of the informal sector
Explanation: - influx of people into urban areas than provision of
services and jobs.
- unemployment (2) {11}

[25]
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i2
8 (a) (@ Population density — number of people per unit area (usually: per km?) (2)
(iD)
Descriptions Explanations
Over 30 ~ a horseshoe shaped area - cool; wet; good agric. soils;
from the NE to E and SE disease free; long history of
of the country settlement; development areas in
- in eastern Mash West, industries, transport networks,
southern Mash. Central, mining and towns,
and southern
Manicaland and central
Masvingo and southern
Midlands
10-30- ~  surrounding the high density - reasons are as the aver 30 density
areas described above; but group; accept reference to agro-
also west of Kadoma and ecological regions as well as
and Kwekwe, Karoi area, political Land Apportionment
around Bulawayo and factors.

Plumtree, north of Nyanga
and SW and W of Zvishavane.

Under 10 - rest of the country; lowveld - hot; dry; poor soils; state lands

.areas, around Hwange, . (national parks and forest lands);
Kariba, Beitbridge, Gweru; diseases; remote; commercial farms;
Kwelcwe etc. mining concessions

- poor transport network
1 mark each. Res3 forD.E (8)

(iii) ~ Effects of land reform

- decongestion of communal areas densities (reduction in over 30 and 10—
30 densities)

- increased population in the under 10 category especially along the central
watershed ' '

- fair spread of population, even on idle commercial farms _

- increase in urban settlements (higher densities) through growth points

- decongestion of towns and cities by offering farms etfc ]

Imkeach (4 [14]

(b) Reasons - effective family planning programmes
- strong population control policies e.g. China’s ‘one chiid
policy’ _
- increased literacy especially for women
- keeping. girls in school longer
- liberation of women to take choices and to work
- harsh economic environments
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(i)
(if)

@

13

- impact of HIV/Aids
- internationa! outmigration by young adults to developed
countries for better-paying jobs eic

1 mk each (5) [5]

-~

Bilharzia and maiaria. Do not accept cholera, diarrhoea 2}

spraying the saails

- cutting reeds and tall grass around the dam

- putting protective clothing when fishing e.g. gumboots
treating the affected

education etc Any 2 2

Bilharzia

Malaria - spraying wo kill the mosquitoes
- oil on dam to kili larvae
- cutting reeds and tail grass around the dam
- mosquito nets

- treating the affected

- education .

- draining the dam etc, Any 2 /2 4y  [6]
| mark each. - {257

Descriptions

- RSA has the largest density of rail network

- it is followed by Zimbabwe, then Namibiz and Angola

- Botswana has the smallest rail density followed by Malawi, Swaziland,
Lesotho and Zambia

- India Ocean ports have more railways than Atiantic Ocean ones

- some railways from the wess coast end inland

- railways are mors concenirated in the eastern parts of SADC
railways from ports iniand

Explanations

- RSA has the largest economy in SADC. more mining. farming and
industries, to move RMs, goods and services, large population
- Zimbabwe has a fairly developed economy, 1o move minerals, timber,

farm produce etc
- Botswana is mainly desert as well as eastern Namibia and SE Angola.

Jow population —Jow economic activity

- Malawi, Swaziland and Lesotho have very small economies and very
rugged terrain

- more ports on east coast:- conducive climate for human settlement

. Eastern conceéntration is dus to fiat terrain and cool, wet climate

- effect of colonial policies and the division by colonial power:- each 10
develop its own territories etc

1 mk each Res 3 for D/E (8)
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(o)

(c)

14

(i) - Bulawayo has a higher railway connectivity (mare nuuai,
it is linked to more counrries than Windhosek
- it is closer to the RSA

1 mk each (3}
(iii)  Problems include

- different gauge widths of the railway lines

- use of different energy systems on railways e.g. coal/steam, diesel,
electricity

- lack of economic integration in SADC

- protectionism (1olls and tariffs) by some SADC countries

- distrust etc 1 mk each (3) [14]
(i) COMESA - Common Market for Eastern and Southern Africa /]
EU - European Union 1 2)
@iy EU COMESA

- common currency (Euro) no common currency

- integraied market - un-cordinated market

- no trade and migration barriers - trade and migration barriers e.g. visa

- single agricultural and trade requirements, customs duries, guotas

- policies and tariffs

- massive in-migration from Asia, - multiple policies

Africa and the Caribbean movernents mainlv to RSA and

Botswana with stronger currencies
and more job opporiunities

- more developed ~ less developed

1 mk each 5y [7]
Measures 10 deal with regional imbalances in Zimbabwe

broaden growth point develepment scope
explore for minerals in remote parts of the country
- establish irrigation in hot. dry areas of the country
- build roads and railways 1o remote areas
- electrify rural arcas
- tax holidays for industries and businesses moving to undsveloped areas
prevent industries and businesses from locating in prosperous areas e.g, Harare,
Bulawayo ,
establish EPZs in undeveioped areas eic. 1 mk each 4 4
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Mapwork

Questions 1 to 12 refer 1o the 1: 50 000 map of Kiidonan, Zimbabwe.

The man-made feature located at grid reference noint 445 773 is a

grave!l road.
power line.
railway 152,
wide tarrec road.

(=R N--2

What name is given to the physical fzature named UMVUKWE RANGE on the map?

A piateau
B ridge
C saddle
D spur

In grid squares 4471, 437} and 4674, the Mul-wadzi River cuts across a mountain range.
This 1s an example of

antecedent drainage.
dendritic drainage.
trelliscd drainage.
supsrimposed drainage.

oW

What is the bearing of mgonometical station 154/S (grid square 4264} from the dip tank
in gnd square 37687

[R% R VRN Y
thth o
(o) +

Cmw e
| I S

li
5]

The distance along the wide tarred road in the south west cornet of the map running

4 km 400 m.
4 km 450 m.
4 km 300 m.
4 km 350 m.

Cawme

2246 1 JR000

et il
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A mourain climber standing at the trigonometrical station 154/5 on Muneni hill (grid
square 4264) sees a mine dumy 5UC metres away. In which direction is he looking?

A North-West
B West

C South-East
D Fasi

The siopf: of the ian'd across the ['mvukwe Range along Northing 72 between Eastings 44
and 48 is best described as

4 up all the way.

B down all the way.

C up and down, up and down.
b down and up, down anc ug .

Sution. named 1r grid squars 4575 13

A A mine.

B 4n eRaLe.

C a rural settiement.
i an industrial towr

What is the patiern of rural seiliemenis shown on the map extract?

clustered
dispersec
haphazard
linear

SHOR-IY

The approximate area under cultih avon in crid square 4067 of Mimosa Estate 1

A 4 km’

B Zkm

C 1 km”,

D by k.

The railway line shownp on the map €xiradt has been built along
A an escarpmesnt.

B a foothill

C a valiev.

j3 & watershed.

zrafc J200w
: ' [Turn over
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12 Which of foliowing pairs descripes the maior landuses shown on the map?

e e e

ransport anc housing
uiuvauon anc foresiry

cuitivation and mining

ranching and forest

DOW

i Phvsical Environment
1N ISRVl ooy hapo o AT ViR e e Tl e
13 Stucy the Ciagram heiow showing waather ironts,

™ .
i am AT movernemn ,ﬂ) j
HE /4

e G ]

e RN A

At what point A. B. € or D will an airereft fiv through the warmes: air? R

A il g M

il
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L]

The diagram below shows a cloud type.

metres

6000+

4500

3000

1500

f

ground surface

At which height does condensation begin?

A
B
C
3]

1500 m
3000m
4 500 m
6 000 m

A particle of ice that is formed when a raindrop is carried upwards into a cooler
environment in a cloud s called

STOw

dew.
frost.
hail.
sleet.

22487 J200%
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16 The diagram below shows a pressure pattern in North Africa,

it g e,

e

e,

Key

1 018 isobar in millibars

At which point A, B, C or D is the wind blowing from the north-easterly direction?

17 Stﬁdy the diagram below.

The landf_orm_ shown is a

A rapid.

B meander..

C braided channel.
D waterfall,

2248/1 12009

<



https://ecolebooks.com

~ Downl oad nore resources |ike this on ECOLEBOOKS. COM

18

7

.....

i “““Ih. '-V.

LHIT]

The features marked a 2 are

normal faults.
transform faulzs.
reverse faujts.
step faults.

TNwe

224871 1200%
{Turn over
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19  The map below shows the world’s major crustal plates and their movement.

construction of multi-

Which of the arsas A, B.Cor D would pose the greatest risk for the |
storied buildings? |

224871 J200%
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20 he diagrams below show stages in the formarion of features commonly found in Southern
Africe,
S,
)
VWhich of A. B C o D corrssponds with these iandforms?
> by Z
A ruwars Kopig bornhardi
E PWAre bornhard: kopie
C bornbardt Kopje ruware
D kopye ruwars hornhard:
.
L o [Turn over
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21 Swdy the diagrams below.

/
r

’ Kav

eruSiOn ares

direction of flow
river channel
Which diagram A.B. C or D correctly shows bank erosion along a river channel?
22 The diagram beiow showe & {zature produced by wind erosion in arid areas.

The landforms marked P are

A dunes.

B pedestals.

C vardangs.

D zeugens. - ,

I3h 1 G006
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23 A temporary salty lake found in desert argas is called &

A fan.

B pediment.
C piaya.

D wadi.

24 The term used to refer to all biological matter is

A biomass.
B biosphere.
B C fauna.
D flora.

-
A T Ot Al et T i [ N E—— —

25 The diagram below shows the nutrient cycle of an ecosystem.

Talnwater

ieaf fall and decay
> i E Litter E

used by - :
plants : i
'
| Rumoff
litter decomposes ¢
nutrient releases

!_S Sox!
7 ...

nuirients in rocks

Biomass lNutrients from

= w jeaching

_____ - Lost

The triangles are proportinal fo the amount of nutrient stored

Which ecosystem is represcnted by the diagram?

A coniferous forest

B savanna grassiand

C rain forest

D hot desert

224871 1200¢ !
{Turn over
: r .
“
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27

12
Economic Geography

Which of the following resources is non-renewable?

A fish

B petroleumn
C timber

D water

The diagram shows the units of food production per head of population as well as birth
rates for four countries that also have similar death rates. Each country has been asked to

accept 100 000 famine refugees,

B
3000 ) e
=
L g
g3
E & 2000-
b=
ks
u..'d
H: )
S B 1000+ PY eD
G T I T - ¥
0 10 20 30 40 50
birth rate per 1000 per year

Which of the countries A, B, C or D will be best able to absorb these refugees?

224871 12009
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28

30

31
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8 The graphs below show the relationship between population growth and resources of a
-~ certain country.

-4

(

- .
LY.

population

i — — e
e e ES e e m EE —  m —

o P
L
)

increage in pepelation and resunices

_:b-'-'——"'-—"-'--‘-——‘——'-——

i T TESOLroEs
: 1900 ——eimee—  Time

At which of the points A, B, C or D is population described as optimum?
It a farming system, which of the following is a physical input?

A knowledge
B capital

C labour

D rainfall

A description of a farming Tvpe is given elow:
- large capital investment 10 buv inputs

- smal} piece of land

- ourputs are mainly perishables

Which of the following farming types does the above description refer t0?

A catle ranching

B market gardening
C plantation farming
b wheat production

Which of the following industries is market-basec?

A saw milling

B brewery y ; :
C iron and steel making

b oil refinery

22481 J2o00
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32 Study the map below.

[ Tea W’

 plantation

2

7 Labour supply
available in  ~—,

formerport _ _ --

-

/ h__,—"—-_,—_—-”’
it
t !
[
5 N T L T -
rr N e e T T T
P e T g g e My S i g
Large undeveloped site
area provides space for
agsociated activities
and pew.Joad - ="
i R
r-‘;‘-._:-;}".‘t:——‘; ’ M
'
TN
. Railway transport to
. ‘ distribute bulk products

and facilitate journev
10 work

Forest plantarion o I e e T T e T

— . mem

— s g — M e

m— mw s e mw e mm e e we— me mbe e ww mee v e —
— e —— e e B mme e e e A MR e e e Ame  amr e e

Which of the following industries wouid favourably be sited at 2.7

iron and sieel
car assembly
saw milling
iea processing

=y

J24E77 JI009
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tance from the

Krv
~temngaes  Reiaj:
ss—mee Indugtry
Y e . Housing
P = ~
g ~
o ~ 4\\\
= \)\‘ ~ '
-~
| % N, S
5 .
i N
VN e
T r . tl \‘ . ~~ .
Citw } 2 3 < 5 6 f g |
A B 7 8 km

centre

Betwsen which distances

A (=3 km
B 5 < 3km
C 2~3km
b 35~8km

15 industry the prowm

2268 g

SConomie landuse?

* : {Turp over
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Population. Settlenent and Trade

34 The diagrams show patterns of homesteads in an area.

A B C D
. .
f ¢ = '..,'. [ ]
2 L4 . . ¥ ° L
| L
’ ) | " * ® .
a
‘ ] . " g.: e & . [
L
Ke) ¢ Homested ?_ . I,
B} K

Which pattern 4, B. C or D will be the moest expensive for the provision of piped water?

35 7 An extensive built-up area formed v the joining together of once separate urban
settiements is referred to as &

A capital city.
E cornubanon.
“ C primate city.
D metropolis.
36 The 1able beiow shows the percenzges ol people starving in four developing coutitries.
]
Country Urban (%01 | Rural(%e)
" i -
A 8 ; 50 :
. i
B 13 48 |
|
C 40 48 |
1
' !
D [ ! 35 |

If you were a World Food Programme representative, which of the countries A, B, C
or D would you targei first for assistance?

i ] 27480 Ng0e
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Which of the following dissases would spreac as a resul: of the

oOows

’i

malarie and diarrhoga
sieeping sickness and tvphold
kwarshiokor and polic

Aids and river biindneass

-

situation shown”

T

T
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38 The map below shows bus movements to Harare.

Scale
¢ 50 100 150 200
L 1 1 J |
kilometres

BULAWAYO

Which of the routes A, B, C or I is the busies(?

T 2248/1 12004

-

Key

Movements per week
Below 30

EEEEE 3] -50

B 5 -2
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39 Study the graph below showing Nigeria’s balance of trade between 1967 and 1975,

| s ¥ 8 iE

3 ?l\
XY

T\

TN\

AN

A -

z %“‘-‘___ —.qb\\

In which vear did Nigeria experience the most favourable balance of rade?

A 1967
B 1672
C 1972
D 1674
40 A port to which goads in transit are brought {or temporary storage and re-export is referred
1o as

A a harbour.
B 3 seaport.

C an entrepot
D a road port.
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I (a)

2

Section A (Physical Environment)

Answer at least ene question from this section.

Figs. 1A and 1B show twe types of plate boundaries.

(b)

{c}

Fig. 1A Fig. 1B

(i) Name the 1vpe of boundary shown in each of the diagrams,
(i) Describe the results of tectonic activity a1 each of the boundaries.

With the ajd of labelled diagrams, describe and explain the following
tvpes of rock weathering: -

{i} frost shattering;
(i) insolation weathering.
Areas with massive granite rock outcrops offer both opportunities and

limitations to human activities. With reference to named areas, discuss
the benefits and problems of living in such areas.

224812 12009
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3
liv rainfalt distribution for Bulawaye during the 2006 — 2007

$ea50L.

miIn B

weskly total  MRIRA

tainfsll

Dyeseripe the rainfall trends showr. F5]

(i} how can the rainall patem shown in Fip, 2 offer both benefits

anc constrajnrs for the residents of the city’” 16]

{151 Sowpern Africe is Fequemly affecied v tropical cvclones.
(i1 Name one countny in the arsa affected by these cyclones. (1]
¢y Outline the main hazards a;_socialed with tropical cyciones. (6]

(iiiy  What measures San he taken io reauce the unpacts of the hazards

vou have identified in (Ml abeve? (7
y
|
!
-4
I
27487 12008

ITarn over
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]

(a) (i) Define the 12rm “ecosvstem”

LS )

Draw a labelled diagram to show energy flows within an
£COSVStelr:.

T
.
bty
T n
e

g. 3 snows distribution of vegstation typss in Africa,

o
—
o
e
T
—
8]

e .

e T T

i et
[

Monianp Foras }
ene Crracsiand

Terperats Foras: and
Meditermanean typss

Tropicel Forest

Tropicai Szvann:

Semi-desert i
I
Desen 0 km 1000
S |
Fig.3
{i} Describe the distribution of tropicai savanna vegetation shown
in Fig.= [5]
{ii} Explain the distripution vou have described in (b)(i} above. i3]

What arguments can be put for and against the conservation of ropical :
[7]

UAT 2006

(ch
rainfores; areas’”
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Section B (Economic Geography)
Answer at least one question from this section.

4 () (i) What is integrated resource conservation? 21

@ W ith reference to an area you have studied, describe how
integrated resource conservation is being done. [5] n

by Fig 4 shows an oil producing area.

OIL FIELD - A COLLECTION OIL STORAGE TANKS
~OF OL. WELLS ON OL. FIELD AT DOCKS

POROUS ROCE

NON PORGUS ROCK Lt
]

EumanmEN
gttt T L L
B EsanmERARREENEES S,

et T i

Fig. 4
(i)  Describe the oil extraction method shown. 4]
(iiy ~ State tWO oil Transportation methods shown in Fig. 4. [2

(it} What are the likelv epvironmental problems resulting from the

. extraction and transportation of oil in the area”. {5
(cy  Discuss {he advantages and disadvantages of sefling up 2 nuclear power
plant in 8 developing country. (71
5 {a) Market gardening is a system with inputs, Processes and outputs. On

your answel sheet, complete the table below.

Inputs Processes Qutputs “
“ ar e () e DT M —
1 (ii) | an e (i)
F
3 (ii1) : . 171

2248/2 12009
[Turn over
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6

g [ Bﬂs-

WETTER DECADES (summmer)
SAHARA

subsiding
dry air

d‘.ﬁ‘-‘:

»r Ilf
s

,--'-' moist air

.ll

— pastorahsts

Fig SA

[LONG DROUGHT
SAHARA

strongly ‘
subsiding ~ Wells 4

N\

migration —-—T—'—"

crops fail

Fig 5B

224871 J2U0
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(i)  Using information in Figs. 5A and 5B only, show how climate

influences the movement of the nomads. {7} ,

(ii)  What are the impacts of drought on nornadic herding” [4]
(iii)  Suggest steps you would take to reduce the effects of drought in _
your area. (7] ;
| 6 {a) (B What do vou understand by the term ‘informal industry’? 2] ;
. ’ (i)  Outline two advantages and three disadvantages of the growth

of informal industries in Zimbabwe. I5]

(o)  Fig. 6 shows empleyment structures for a developed and a developing country .

developed country developing country
age group
65+
55-64
45.54
25.-44
15-24
: C-14
15% 10% 5% © $% 10% 15%  20% 15% 10% 5% O 5% 10% 15% 20%
male femaie male female

key

% employed

% not employed

Fig. 6

(i) Identify the differences in the employment structures shown. {71

(i)  Explain the differences you have identified in (b)(i) above.

224812 12000 T
Phurn Gver
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centre 1o the edge of the city.
i
| TN
§1 1
< | ‘
th
E l \ high nse pemi-detached pmall, low c0s
£ flats and cIry low cost and terrace detached houses
{ in;::lma) vilies : u‘m pouses contre | e touses and flats
| s ement | i 1 .
age ol buildings ege of busldings -
" digwanoe - digrance -
Fig. 7
(i} Describe the changes in population density and types of houses
shown. ' 6]
151 §

Downl oad nore
resources |ike thi
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8

() An industrialist wishes 10 set up 2 large cement and brick-making factory

near an area of high population density.

s offered by the industrialist to locate

() What would be the reason
there? (3]
g — What arguments would be given by the reéidcnts against the
jocation of the factory? [43
Section. C (Population, Settlement, Transport and Trade)
question from this section.

Answer at Jeast oné

owth point has improved the quality of life

(a) (D ‘Chow bow a named g
of the people of the area where it is located. i
iy  Jthas been observed that growih points in Zimbabwe have:
developed at different T1ES. Suggest reusons for these varying
{7

rates of growth.

vy Fig 7 shows changes in population density and housing from the <ty

(i1} Explain the changes you above described in (b)(i) above.

22483 J200¢
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8 (8) rith reference to named areas, outline the social and economic impacts
of rapid population growth. (7]

8 A shows ages at death for the United Kingdom and Guatemale and

(b)y TFig
Fig. 8B shows the causes of the deaths.
United
Kingdovs Guatemals
Age atdeath (years) Age at death (vears)

Eﬁ*b

Female

20 30

p——rr T ] ¥ g . t -

0 20 10 & 6 1 2 ¥ I 20 1 ¢ o 10

%, of population dying v}, of population dying .
Fig. 8A

infection
Death before
age 1 month
Heart disease 5
end stroke

. Accident &
vielenoe § ME Gusterale

‘ Meinnmfmn : {3 Unned Kingdom)
Cancer 1 - '

| | .

- 2 z
’ e W X
% of population dving
Fig. 8B

Described the differences in the patterns of death shown in
Fig. 8A. ’

(1) 61

iy ~ Using Fig. 8B, explain the causes of death for the two countries.  [5]
ures that can be introduced to improve tbe quality of life

(<) Suggest meas
in Guatemala.

[71

4 ¥
124872 12006
[Ture over
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(i) QOutline prbblems being faced by any one of the following types

(2)
of transport in Zimbabwe; road; rail; air. f4}
(i)  State measures to solve the problems you have identified in
(a)(i) above. (3]
(b)y  Fig. 9 shows, in simplified form, Zimbabwe’s pattern of trade.
| Buropean Union ]
' A] ). Rest of the world
- Other African g i | Eastem blo¢
: st | Zimbabwe | - (China, Malaysia,
it ' [———— Indonesia et
AN
“t-South Afriea
Fig. ¢
(D) Describe the pattern of trade shown. [6]
(i)  Give reasons for the pattern you have described above. [}
(¢)  AsMinister of Industry and International Trade, what steps can you
[7]

take to promote trade in Southern Adrica?

234872 J200Y
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2

1 (a) (i)

I 'mark each

-

(i)

A —divergent or constructive blate boundary,
B - neutral or conservative plate margin.

2]

L3

At A - plates diverge, magma rises to fili gaps created, formation

of volcanoes, mid --oceanic ridges, new ocean floor or ocean floor

spreading.

At B — plates slide past each

other, Friction between moving plates

builds up pressure. Fracturing of crust results in sudden release

of pressure in form of seism

ic waves (earthquakes). Cracking of

the ground, lateral displacement of land and deformation of land

occurs. , collapsing of buildings,

displacement of infrastructure

@

(ii)

Max. 2 marks for earthquakes.

3 marks each. | mark each point el 18]
Frost shattering

Daily fluctuations of lemperature between - 5°C and 8°C result in freeze -
thaw cycles, During the day water collects in rock joints, When temp drops
at night water freezes and volume increases, Cracks get wider and deeper.
Ice thaws during the day. Repeated freeze — thaw action breaks rocks into
angular pieces (block disintegration)
woter Lratf.s feR, weayng

Qg u!g_r‘ A’o ek

¢ 2 , 3
Insulation weathering. High davtime temps cause the surface of exposed
rock outcrops of expand. Different rock elements expand ar different rates.

disintegration.

ith the rock. Temps drop at night or due to sudden
cooling following a rainstorm, rocks contract. Repeated expansion and

contraction causes exfoliation (peeling/ flacking of rocks) or granular

[10]

! mark each point, 5
diagrams may eam 5

-

marks each. Res, 2 for diagrams (each). Well annotated
marks, Mark diagram first

*
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L4
Name: Matopos. Domboshawa, Domboramwari, Balancing rocks in Epworth

Opportunities *

- scenic attraction promotes tourism

- varied habitats promote wildlife .

- building materials e.g. quarry stones for buildings (construction), road construction.
-black granite for tombstones, curios

- foreign currency earnings through export of black granite

- water harvesting eic

- traditional ceremonies, drying grain, recreational activities e.g. rock climbing

- education

Problems
- rugged terrain — problems of road construction etc

- limited flat land for farming and settlement
- skeletal soils with a low agricultural potential
- hazardous rocks mass movement
- high rates of soil erosion
habitat for nuisance animals
-e.g. baboons and dangerous reptiles.

1 mark for name; 3 marks P; 3 marks O :
7[5 -
(i) Bulawayo ‘ . i

- rainfall distribution more erratic/uneven distribution i

- rainfali is generally below norma! '

- four periods above nomal

Oct -2 Nov, 11 =18 Jan, 15 — 22 Feb and 22 — 29 March 7

- Two long dry spells 1 — 15 Feb and 22 Feb to 22 March ete :

1 mark each. Refer to diagram [5]

(iiy  Benefits
- growing of crops
- dry festive szason
- water harvesting during weeks of high rainfall !
- risk of flood in the city is reduced '
- low risk of water-borne diseases e.g. malaria

Constraints
- possible soil moisture deficits |
- wilting of crops and reduction in water supplies during the long dry spells 4
- flash floods during weeks of above normal rainfall ‘ |
- water rationing

- diseases related to water shortage

3 marks each; | mark each point [6]1[11] i

(i) Southern Malawi, Zimbabwe, Mozambique or South Africa [1]

(i)  Hazards associated with tropical storms
- heavy rains resulting in severe flooding
- lighting swrikes result in loss of lives
- strong winds destroy buildings and cg)mmunication infrastructure
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- Secondarv effect

- loss of farmiand : ‘

- loss of life, fiooding of field, disease, destruction of vegetation,
injuries ete. | mark each 6]

(iii)  Measures
- mitigation (disaster aid (max. 2 for food, water, shelter, clothing,
medicines and insurance) -
- settling on high ground
- weather forecasting and early warning systems
- rescue and recovery teams/evacuation
- lighting conductors and education
- improved drainage etc.
- reinforce buildings
- dam construction
- afforestration/reforestation
| mark each (71 [25)

(a) {i) An ecosystem is a community of living things sharing a certain

physical snvironment/ecosystems are made up of linked parts
which all depend on each other. 2 marks for a complete answer. [2]

(i)
Sun [

\f‘w\ | Guses kud Lect 5%{5 and et s fwa‘f‘
I.jf‘eta Hﬂn!n “\M’i}\wﬂ—ﬁ' Emwoms .
,Pnf»xnrg Ibn:duuti ' ,bn-;nmL; Cansu condGnm wuq'\lf-‘
NI/ |
decomposecs |
M}‘\t gases e feat

-

e ——

1 mark each main level [5]
b Distribution of tropica) Savanna vegetation
- vegetation is found between tropical rainforest and semi desert areas
- extends from about 15°N to 23°8S
- hasTow zone along the Natal Coast extends down to 30°S
- forms a dontinudus belt from West Africa to East Africa, North of Ghana
and Nigeria
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- covers mu.,n of Central and Southern Africa, e.g. Zambia, Zimbabwe,
Angola, Mo.camblque

- an isolated area in the Sudan

- narrow belt on wesigrn Madagascar

1 mark cach

Credit ref to named countries

Refer to map [6]

{(ii)  Reasons for distribution

- seasonally humid conditions within the hot tropical zone

- highland areas in Sudan promote high rainfall

- higher rainfall and warm conditions associated with the warm
Mozambique current along the Eastern coast account for the
extensions of the belt to beyond tropical regions etc

- reduction in rainfall latitudinally from the Equator etc.

- dryness associated with the cold Benguela current of S.W. African Coast

1 mark each [5]

Arguments for conservation of the rainforest
- preservation of biodiversity and gene bank or the rain forest is a habitat
for a wide variety of p}anls ammals birds, reptiles ete.

- reduction in levels of CO? and slowing down of the process of global
warming

- rainforests are a vital component of the global hydrological cycie

- increased evapotranspiretion will result in increased rainfall

- many plants have medical value

- protection/preservation of cultural heritage of minority groups living.
in the rain forest e.g. Ameri-Indians

- forests have an aesthetic value

- promotion of ecorourism

- source of food (fruits and honey)

- protection against soil erosion

- maintaining the nutrient cycling

- source of titnber

Against

- need 10 provide land for the fast growing populations in tropical areas
- plantation crops and hardwood timber bring foreign currency

- exploitation of timber and promotion of agriculture can stimulate
industrial growth within the countries

- large scale arabje farming and ranching can improve local food security

- resource exploitation (timber, minerals etc) can promots infrastructure
development

- and the subsequent reducticn in remoteness

. sustainable exploitation of the rainforest can improve the quality of life.

Res 3 for F/A 1 mark each [71f25]

(i Integrated resources conservation is a holistic approac‘u to the
conservation of the resources of an area i.e/.conserving all existing
resources in an area for sustainable use
2 marks for a complete answer. _ N [2]

(i)  Integrated resource conservation can cover any of the following
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- & named river basin/water shed prorection, - ‘
—~ . » ]
- Campiire projects. conservancies, j\» ! mark
- local community projects etc
) .

Key aspects 10 be inciuded are
- holistic nature of projects
- grassroots participation
- education of locals 10 raise level of resource management awareness
- benefits from projects benefit local communities
- empowerment of local communities in decision-making
- funding from government and NGOs
- carrving out of environmental andits
Specific measures include
- enforcing environmental protection laws
- afforestation and reforestation (village woodlots-one word please)
- dam construction; fish farming
- water harvesting
- setting up of fire breaks
- destocking
- landuse planning
- setting up lncal anti-poaching units
- setting up Campfire projects, etc
- regrassing.
Noname-max. 3 | mark each [5]

(i) Extraction of oil 4
- wells are drilled/sunk through lavers of rock
- pumps are installed
- pumping eguipmant is supported by derricks
- purnping is done through the core pipe
- waste gases are set alight
- outer casing suppiies mud to cool the core 1 mark each [4]

(if) ~ pipeiine and tanker/ship I mark each [2]

(ii)  Environmental impacts of oil extraction and transportation
- devegetation during infrastructure development
- gas flares pollute the &ir
- negative visual impacts of derricks and storage tanks
- land pollution from pipeline leakages '
- oil spills from tankers poliute water resulting in upsetting of marine
ecosystems
- dredging of coast to set up harbour etc. | mark each [5]

Advantages of a nuclear plant
- high energy output from small quantities of raw materials

- reliable energy source leading to economic prosperity

- reduction in the importation of oil and gas (foreign currency savings)y
- Jess problems of green house gases

- plant has a longer life span

- other sideline benefuts e.g. laser technology
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Disadvantages

- problems of disposal of radioactive waste

- it's expensive

- high technoiogy is requireds »

- lack of skilled manpower

- possible misuse of nuclear power for military purposes

- high risk of industrial accidents leading to loss of life and contamination
of large areas

- posmb ¢ conflicts with other countries

! mark each Res 3 for A/D [73[253
Inputs Processes Outputs
- water - weeding - vegetables
- fertilisers - harvesting ~ fruits
- irrigation pipes - spraying - flowers
- capital - fransporting - pumpkins
- labour - ploughing
- chemicals
-seed /3 2 7] [71

16)] Wet decades
- general movement northwards
- rainfall belt extends from 5°N to 20°N
- farmers migrate northwards as water and pasture are
readily available

Drought periods

- general movement southwards

- rainfall belt restricted to betwecn 5°Nto 15°N

- pastures are dry

- wells dry

- farmers migrate southwards as area of rainfall is retreating

1 mark each

(i) - loss of livestack

- water scarcity

- severe food shortages

- starvation

- peaple die

- reduction in quality of life

- outbreak of diseases

- loss of income and status

- shortage of pastures

- crops fail I mark each 4]

(iti) - water rationing
- supplementary feeding
- sinking deeper wells
- dam construction
- introducing irrigation schemes for crops and pastures
- introducing sustainable ranching
- encourage farmers 1o destock
- banning the use of hose pipes
- use of recveled water in gardens

= -
~

7

Lok
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(b)

(1)

(if)

(i)

(if)

¥

- Stralegic grain reserves
- food aid
- growing drought tolerant crops
- keeping drought toleramt anittals
- education
- importation of food
1 mark each [71[25]
Informal industries:
Backyard or home industries and on a smal! scale
2 marks for a compiete answer. f2]

Advantages

- trading is flexible

- supply cheap goods to the market

- business can be conducted from 2 variety of places

- prices are rarely fixed and 50 negotiation is possible

- a variety of cheap raw materials used

. self-employment/iviable source of income

- employment creation

- land/air pollution f2]

Disadvantages

- quality of goods not guaranteed

- exploitation of child labour

- operation is often iliegal/backyard

- encourages “dealing” in stolen goods

- limited benefit 10 the economy as business people do not pay
income tax

- negative visual impacts of some operation sites

- land/air polution (3]

- no children employed in developed country whereas approx
3% of children in developing countries are employed

- fewer women employed in developing country than developed

- more aged people in deveioped country are unemployed than in developing
- 15~ z_4maged group: more men employed in developing country than
developed

- 25 — 44.aged group: more women unemployed in developing country than
in developed

-~ 15 44-aged group: more males, unemployed in developing country than

in developed
- 45 - 35 age group: more unemployed males in developed country

- 55 - 64 age group: more unemployed females in developed country

1 mark per ciear d]fference Refer to graphs [7]
Children: - too many in developing country; child labour laws weak

15— 24/25 -- 44 ; child bearing; culture; low levels of development; women
not liberated in developing country and liberated in developed country.

45 — 55 automated machines in developed; more menial jobs in
developing:

1 mark each point [4]
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- eémpioyment creation N

- Supply of building materials at affordable prices
- infrastrucryral development

- cheap lang

- large labour pool

- large market

s J

- environmental poliution

- exploitation of Jabour

- target market not always the local community
- taking up of land for agriculturs
-erivironmental degradation

- air poliution

- noise pollution

Name of Growth Point

- Maphisa, Mubaira Murambinda etc
- €48y aceess to goods and serviges

- marketing of agriculturaj produce

- rural electrification

- upgrading of district hospitals

- employment creation

- improvements in wansport/accessibility
- improvements in water supply

- fonstruction of modern homes

- Improvements in entertainment, exc

1 mark for name

Reasons for differential rates of growth

~ slow growth due to-

- poorly developed infrastructure ¢, g. roads, power supply,
water and telecommunications

- lack of rescurces for economic development

- small domestic market/long distances from major markets

- poorly sited growth points -- i.e. growth points overshadowed
by small towns e.g. Murombedzi

- shortage of land for expansion/conflict over Jang with local
communities e.g. Murambinda

- failure 1o attract potential investors

- political interference

Reasons for fast growth

- rich resource base in the hinterland land promoting growth of

processing industries £.8. Sanyathi and Gokwe

- incentives offered 1o property developers €.g. cheap jand (home

ownership) Mupandawana
- more reliable water supplies

1 mark each

[4]125]

(1]

[6]

- better developed transport networks-and proximity to urban markets e.g.
Murehwa centre, Res 3 for S/F 1 mark each [7]

Descriptions
Crty centre has low population density ]
- density decreases from city centre to the edge of the city

- there is a high density rim around the ity centre
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- higher densiny 10 the east (right side} than 10 the west
- population density increases sharply in the informal settiement
- oldest buildings are closest 10 city centre
- blocks of flats on zither ¢jde of the city centrs
- villas on the western side {left)
- density increases around the zone with small detached houses
on the right eic
Credit ref. to any correct observation - Res 2 for P/H '
" Refer to diagram | mark each [6]
(iiy  Explanations
. CBD - non-residential functions
- newer buildings towards the edges of the centre due to outward
expansion of the ciy °
- pid buildings near the city* centre represent old developments
when the town was sinal}
- high density rim due 1o high rise apartment buildings which
accommodate many peopie as well as need by many people to
stay near CBD and work places and also due 10 high land values
- high density on the zone of the work men’s homes high density
housing accommadates many people.
. villas away from city centre because land is available/cheaper
" - informal settlement at the edge of the city and near high class
residential area for proximity to menial jobs and availability of open land
- high density in informal settiement because plots are very small
_informal settlements might have developed on the sural urban fringe and
settiers require land for limited cropping and access 1o wood fuel
- presence of squatier settiement
| mark each explanation [51[25]

g {a) Name - | mark for country/region

Social — high birth rates — poor maternal health
- possible high infant mortality rates
. strain on social services health, education and housing)
- erime and all forms of anti-social behaviour '
- poverty
- overcrowding
- destitution
- diseases spread faster
- malnutrition

:conomic — unemployment
. out-migration (rurai o urban)
. shortage of skilled manpower
- rapid exploitation and depletion of resources
. economic stagnation due 10 increased govt spending on
non-productive sectors

. availability of a large poo! of cheap labour

i mark cach Res. 3 S/E 7]
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(o) i - cznerally more deaths of oldsr people in UK, more deaths
of vaunger people in Guateniala
- fewer deaths in UK of people in the 0 — 4%-year age group
- 10 — 19 vears small differenge with 0 ~ 9 in UK whereas a
suddzn drop in Guatemala
- 20 - 49 vears very small increase in death in UK, almost uniform in
Guatemala
- 70-7%9 more male deaths in UK, almost the same for male and female in
Guatemala
- 45 — 79 years rapid increase in deliths in UK, less rapid in Guatemala
- 80— more females die in UK than males; smaller difference between -
male and female deaths in Guatemala. | mark each difference  [6]

(ii) UK — highest is stroke and h=art disease due to stress and old age
- second killer in cancer
- less death from infection due to more developed medical facilities
and good diets
- no deaths from malnuirition due to better diets
- low death before age | month because of developed antenatal care

Guatemala.

- highest killer is infection due to poor medical service dzlivery
- death before age | month high; poor baby clinics development

- accidents and violence fairly high; drug barons, unrest

- malnutrition deaths high poor diets due to poverty

| mark each. Res 2 for UK Guatemaia (5]

(<) - improvements in sanitation

- provision of safe drinking water .

- use of pesticides to reduce diseases like malarla

- education 10 increase literacy levels

- training of doctors and other heaith personnel

- immunisation of chiidren ‘
\ - primary health care

- improvements in personal hygiene

- improvements in agriculture to increase food supply
- - legisiation to ban some cultural practices

- family planning

- empowsrment of women

1 mark each (71 [25]

9 (a) §3) Transport problems - Road
- poor state of roads e.g. potholes
- shortage of spare parts
- shortage of forex to import and maintain vehicles
- inadequate transport and Jong waiting periods
- congestion on roads
- overcrowded public transport
- frequent breakdown due to shortage of spares
- high cost of commuting
- shortage of parking space
- poor state of roads worsened by State bf weather
- frequent accidents

[

vy
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(b)

(i)

(i)

(i)

A

12

Transpor: problems - Raii  +
- shortage of rail ‘wagons

- shortage of spare parts e.g. vacuum brakes

- faulty and non-functiéning s*gnals

- shortage of fuel

- shortage of skilled manpower

- outdated machinery

- slow and unreliable

- vandaiism and damage of the rail track and Signals
- poor maintenance of the rail track

- operating at Jow unprofitable cost.

~-

Transport pro:. zms - Air

- serious shortages of manpower

- old and outdated planes

- few planes

- shortages of foreign currency

- competition from other airlines

- too much political interference

- frequent industrial actions or wage disputes

- with the exception of Harare, airports have limited capacity

- unreliable and delays imark each

Measures 1o solve the problems

- increased funding for fuel importers

- local manufacture of spare parts

- regutation of fares-

- installing wraffic lights

- local assembly of cars, buses, rail wagons

- use of public transport

- improvement of road and rail infrastructure

- legislation and education on vandalism of signals

- making foreign currency available for the importation of spare
parts. 1 mark each ' :

greatest flow of goods and services iz between Zimbabwe
and SA, followed by Zimbabwe and EU countries

- significant trade with the Eastern Bloc

- least with other Aftican countries

[4]

(3]

- trade with the rest of the world and other African countries i insignificant
- generally Zimbabwe imports more than it exports (trade deficit situation)

- Zimbabwe exports more to African countries than it imports "

I mark each  [6)

Reasons
- South Africa has a powerful and more diversified economy

- proximity to S.A. and signing of rade protocols between thc‘itwo

countries, allows for easy movement of goods and services

E.U. countries
- historical reasons or colonial legacy

- strong links with UK and significant investment by European TNCs
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